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1|4t Ha 122 27 22.1 43 35.2 39 32.0 1 0.8 12 9.8 0 -
2| H AR 38 0 - 38| 100.0 0 - 0 - 0 - 0 -
AT 59 0 = 51 86.4 8 13.6 0 = 0 S 0 =
4| BRI 67 2 3.0 60 89.6 3 4.5 2 3.0 0 - 0 -
5| Fk H IR 56 2 3.6 53 94.6 0 S 0 = 0 = 1 1.8
6/ LB 44 8 18.2 34 77.3 2 4.5 0 - 0 - 0 -
7|8 B8 89 0 - 80 89.9 9 10.1 0 - 0 - 0 -
8| e hif e 82 23 28.0 56 68.3 2 2.4 1 1.2 0 - 0 -
9| K AL 49 11 22.4 36 73.5 0 - 0 - 2 4.1 0 -
10| e R 1R 59 0 - 59| 100.0 0 - 0 - 0 - 0 -
11|85 0 74 27 36.5 44 59.5 3 4.1 0 - 0 = 0 S
12| F-3ER 68 21 30.9 40 58.8 7 10.3 0 - 0 - 0 -
13| HEHR 53 5 9.4 41 77.4 6 11.3 0 - 1 1.9 0 -
14| fZs) | 1 37 2 5.4 32 86.5 1 2.7 0 - 1 2.7 1 2.7
15| B I8 IR 94 28 29.8 58 61.7 8 8.5 0 - 0 - 0 -
16| & LR 35 13 37.1 19 54.3 2 5.7 0 - 1 2.9 0 -
17|75 )1 15 40 13 32,5 26 65.0 1 2.5 0 - 0 - 0 -
18| f@ kIR 35 1 2.9 7 20.0 27 77.1 0 - 0 - 0 -
19| 1L FUR 64 10 15.6 48 75.0 5 7.8 0 - 1 1.6 0 -
20| REFIR 86 10 11.6 64 74.4 8 9.3 0 - 4 4.7 0 -
21| Iz BL IR 53 27 50.9 19 35.8 4 7.5 3 5.7 0 - 0 -
20| b 1L 68 18| 265 43 63.2 7 10.3 0 - 0 - 0 -
23| g 1L 87 24 27.6 58 66.7 4 4.6 1 1.1 0 - 0 -
24(=FEIR 63 9 14.3 48 76.2 2 3.2 1 1.6 3 4.8 0 -
25| B L 49 0 - 46 93.9 1 2.0 1 2.0 0 - 1 2.0
26| AR 44 1 2.3 42 95.5 1 2.3 0 - 0 - 0 -
27| kIR 22 1 4.5 20| 909 1 45 0 - 0 - 0 -
28| FL 79 45 57.0 30 38.0 0 - 0 - 4 5.1 0 -
29|Zx FL I8 29 11 37.9 14 48.3 1 3.4 0 - 3 10.3 0 -
30| Fin oL 18 36 3 8.3 15 41.7 2 5.6 0 - 16 44.4 0 -
31| i Hit B 37 0 - 26 70.3 1 2.7 0 - 10 27.0 0 -
32| BB 52 2 3.8 40 76.9 3 5.8 0 - 6 11.5 1 1.9
33| i 1L 59 10 16.9 42 71.2 6 10.2 1 1.7 0 - 0 -
34| 7 B 18, 53 17 32.1 28 52.8 5 9.4 1 1.9 2 3.8 0 -
35117 55 4 7.3 34 61.8 7 12.7 0 - 10 18.2 0 -
36| fEIE IR 33 10 30.3 13 39.4 6 18.2 0 - 4 12.1 0 -
37| F )1 1B 43 12 27.9 31 72.1 0 - 0 - 0 - 0 -
38| 4B IR 70 6 8.6 57 81.4 0 - 2 2.9 5 7.1 0 -
39| @ 1 53 0 - 39 73.6 10 18.9 1 1.9 3 5.7 0 -
40| 45 ) 1k 97 81 83.5 10 10.3 5 5.2 0 - 1 1.0 0 -
A1| PR 49 29 59.2 17 34.7 0 - 0 - 3 6.1 0 -
42| Bl 79 3 3.8 69 87.3 6 7.6 1 1.3 0 = 0 =
43| fEA IR 90 87 96.7 1 1.1 2 2.2 0 - 0 - 0 -
44| K41 58 30 51.7 21 36.2 7 12.1 0 - 0 - 0 -
45| B, 44 17 38.6 27 61.4 0 - 0 - 0 - 0 -
46| [EVR B IR 32 24 75.0 7 21.9 0 - 0 - 1 3.1 0 -
A7| TR 53 2 3.8 50 94.3 0 - 1 1.9 0 - 0 -
SEF 2,738 676 247 1,736 63.4 212 7.7 17 0.6 93 3.4 4 0.1
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1|t 123 27 22.0 42 34.1 40 32.5 1 0.8 11 8.9 2 1.6
2| HHE 38 0 - 38| 100.0 0 - 0 - 0 - 0 -
3 AFE 59 0 - 50 84.7 9 15.3 0 - 0 - 0 -
A SRR 67 2 3.0 61 91.0 3 4.5 1 1.5 0 - 0 -
5| Bk H 1R 55 2 3.6 52 94.5 0 - 0 - 0 - 1 1.8
6| LU 44 8 18.2 34 i 2 4.5 0 - 0 - 0 -
7|48 R 89 0 - 80 89.9 9 10.1 0 - 0 - 0 -
8| Fehf 18 82 23 28.0 56 68.3 2 2.4 1 1.2 0 - 0 -
9| AL 49 5 10.2 44 89.8 0 - 0 - 0 - 0 -
10| BEBB IR 59 0 - 59| 100.0 0 - 0 - 0 - 0 -
11| E R 74 27 36.5 44 59.5 3 4.1 0 - 0 - 0 -
12| FIEIR 67 18 26.9 40 59.7 8 11.9 0 - 0 - 1 1.5
13| LR 53 5 9.4 41 77.4 6 11.3 0 - 1 1.9 0 -
14| FZE) 1| 1 37 2 5.4 32 86.5 1 2.7 0 - 1 2.7 1 2.7
15| FriR I 94 28 29.8 58 61.7 8 8.5 0 - 0 - 0 -
16/ 85111 5% 33 13 39.4 17 51.5 2 6.1 0 - 1 3.0 0 -
17| a1 B 40 13 32.5 26 65.0 1 2.5 0 - 0 - 0 -
18| @ kIR 35 1 2.9 5 14.3 28 80.0 1 2.9 0 - 0 -
19| 11140 60 9 15.0 45 75.0 5 8.3 0 - 1 1.7 0 -
20[ EEFIRL 82 10 12.2 59 72.0 6 7.3 0 - 4 4.9 3 3.7
21| B 18, 51 24 47.1 19 37.3 4 7.8 1 2.0 0 - 3 5.9
20| e ) 1. 68 18 26.5 43 63.2 7 10.3 0 - 0 - 0 -
23| A1 87 23 26.4 58 66.7 4 4.6 1 1.1 0 - 1 1.1
24| = &I, 63 11 17.5 47 74.6 1 1.6 1 1.6 3 4.8 0 -
25| B8 R 49 0 - 47 95.9 1 2.0 0 - 0 - 1 2.0
26| SLER T 43 1 2.3 41 95.3 1 2.3 0 - 0 S 0 =
27| KERAF 22 1 4.5 20 90.9 1 4.5 0 S 0 - 0 -
28| FLE IR 79 45 57.0 30 38.0 0 - 0 - 4 5.1 0 -
29| ZE R 29 10 34.5 14 48.3 1 3.4 0 - 3 10.3 1 3.4
30| Frk LR 36 3 8.3 16 44.4 2 5.6 0 - 15 41.7 0 -
31| B HURk 35 0 - 28 80.0 0 - 0 - 7 20.0 0 -
32| BRI 52 2 3.8 38 73.1 4 7.7 0 - 6 11.5 2 3.8
33| LU 56 10 17.9 35 62.5 7 12.5 1 1.8 0 - 3 5.4
34| [ B 18 53 18 34.0 28 52.8 4 7.5 1 1.9 2 3.8 0 -
35(1 R 55 7.3 33 60.0 6 10.9 0 - 12 21.8 0 -
36| e 33 10 30.3 14 42.4 6 18.2 0 - 3 9.1 0 -
37| B I 1E 43 11 25.6 31 72.1 1 2.3 0 - 0 - 0 -
38| 4RI 69 6 8.7 56 81.2 0 - 2 2.9 5 7.2 0 -
39| AR 52 0 - 38 73.1 9 17.3 1 1.9 3 5.8 1 1.9
40| 78 M 1R 95 77 81.1 11 11.6 5 5.3 0 S 1 1.1 1 1.1
41| 5518 49 29 59.2 17 34.7 0 - 0 - 3 6.1 0 -
42| B IR 79 3 3.8 69 87.3 6 7.6 1 1.3 0 - 0 -
43| fEA IR 90 85 94.4 1 1.1 2 2.2 0 - 0 - 2 2.2
44| K418 58 30 51.7 21 36.2 7 12.1 0 - 0 - 0 -
45| 18 44 17 38.6 27 61.4 0 - 0 - 0 - 0 -
46| YR B 18 32 24 75.0 7 21.9 0 - 0 - 1 3.1 0 -
47| FhgRE 53 2 3.8 50 94.3 0 - 1 1.9 0 - 0 -
4EE 2,715 657 24.2| 1,722 63.4 212 7.8 14 0.5 87 32 23 0.8
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1 4k Hl 18 1 5.6 4 Pl 4 222 2 11.1 3 16.7 4 22.2
2| AR 1 1 100.0 0 = 0 5 0 = 0 = 0 =
3 EFR 2 0 + 1 50.0 0 = 0 = 0 = 1 50.0
4 FhE 3 1 33.3 2| 66.7 0 - 0 B 0 - 0 -
5| Bk FH 3 0 = 2 66.7 0 = 1 33.3 0 = 0 ™
6 LLi R 3 1 33.3 2 66.7 0 = 0 - 0 - 0 -
7|13 By 18 1 0 = 1 100.0 0 - 0 = 0 = 0 =
8| K R 1 0 - 1| 100.0 0 - 0 - 0 - 0 -
9| HE AR 1 0 = 1 100.0 0 = 0 - 0 = 0 =
10| BB IR 6 0 = 5 83.3 0 - 0 = 0 - 1 16.7
11| R R 5 2 60.0 2 40.0 0 o 0 = 0 = 0 =
12| FER 7 1 14.3 5 714 0 = 1 14.3 0 - 0 =
13| i 1 0 - 0 - 0 - 1 100.0 0 - 0 -
14| fiz=) 1| 1R 4 1 25.0 2 50.0 0 — 1 25.0 0 - 0 =
15| FiiRIR 1 0 = 1 100.0 0 o 0 = 0 = 0 =
16| & 1L 1 1 100.0 0 = 0 = 0 a 0 - 0 =
17| 61|15 3 1 33.3 0 = 0 = 1 33.3 0 . 1 33.3

18| @1 =
19] 1L L 2 1 50.0 0 = 0 = 0 = 0 = 1 50.0
20| B 2 1 50.0 1 50.0 0 = 0 = 0 = 0 =
21| B L 1 1 100.0 0 = 0 = 0 ta 0 = 0 =
22| i M R 5 1 20.0 2 40.0 0 = 0 = 0 = 2 40.0
23| F AR 2 1 50.0 0 T 0 = 1 50.0 0 = 0 =

24| =YL -
25| B L 2 0 = 2 100.0 0 - 0 - 0 = 0 -
26| FERIT 1 0 - 1 100.0 0 - 0 - 0 - 0 -
27| KIRHF 2 0 - 2| 100.0 0 B 0 - 0 - 0 -
28| STl 8 1 12.5 6 75.0 0 = 0 = 1 25 0 -
29| FR LIS, 2 1 50.0 0 = 0 = 1 50.0 0 = 0 -
30| F A Ly 3 2 66.7 1 33.3 0 = 0 = 0 = 0 =
31| B EUS 1 0 ™ 1 100.0 0 - 0 ™ 0 o 0 =
32| B IR 2 0 = 0 = 0 = 1 50.0 1 50.0 0 =
33| [l 5 3 0 - 1 33.3 0 = 1 33.3 0 = 1 33.3
34| [ B 18 3 2 66.7 0 = 0 - 1 33.3 0 - 0 -
3501 g 1 1 100.0 0 - 0 - 0 - 0 = 0 =
36| fG IR 3 0 - 0 - 1 33.3 1 33.3 0 = 1 33.3
37| BIIR 2 1 50.0 1 50.0 0 ~ 0 = 0 = 0 -
38| B IR 1 0 - 1 100.0 0 - 0 - 0 - 0 -
39| /8 MR ) 0 = 2 100.0 0 = 0 & 0 - 0 -
40| 75 ) e 7 5 71.4 2| 286 0 B 0 ~ 0 - 0 -

41| IR -
42| BRI 1 1 100.0 0 = 0 = 0 = 0 - 0 -
43| fEAIR 2 2 100.0 0 = 0 . 0 = 0 = 0 =
44| K530 1 1 100.0 0 = 0 = 0 = 0 = 0 =
45| E I 1 0 - 0 - 0 - 1| 100.0 0 - 0 -
46/ [EE LR B5 15, 2 1 50.0 0 = 0 = 1 50.0 0 = 0 =

47| pp IR =
2EHE 123 34 27.6 52 42.3 5 4.1 15 12.2 5 4.1 12 9.8
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SOAVEE
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¥ % # % 8 % # % # % i
Ak 122 76 62.3 28 23.0 85 69.7 9 7.4 19 15.6 0
g 1] 38 38| 100.0 0 - 38| 100.0 0 - 0 - 0
AHFR 59 51 86.4 0 - 58 98.3 1 1.7 41 69.5 5
. 67 48 71.6 3 4.5 64 95.5 0 - 63 94.0 0
B8 56 0 - 0 - 56| 100.0 0 - 0 - 0
LR 44 22 50.0 1 2.3 43 97.7 0 - 0 - 0
by 89 86 96.6 0 - 88 98.9 ] 1.1 0 - 0
e IR 82 62 75.6 65 79.3 16 19.5 1 1.2 67 BLT 0
HiAS UL 49 49 | 100.0 45 91.8 4 8.2 0 - 47 95.9 6
BER 59 58 98.3 57 96.6 1 1.7 1 1.7 59| 100.0 22
I 74 59 79.7 40 54.1 34 45.9 0 = 40 54.1 0
FHER 68 34 50.0 39 57.4 26 38.2 3 4.4 4 5.9 0
HER 53 50 94.3 38 71.7 8 15.1 7 13.2 42 79.2 1
EE) | 37 32 86.5 9 24.3 28 75.7 0 - 9 24.3 0
BB 94 81 86.2 70 74.5 18 19.1 6 6.4 77 81.9 0
AN 35 35| 100.0 27 77.1 8 22.9 0 - 28 80.0 0
AR 40 18 45.0 37 92.5 3 7.5 0 - 38 95.0 0
IR 35 19 54.3 1 2.9 34 97.1 0 - 2 5.7 0
IIE:8 64 56 87.5 24 37.5 38 59.4 2 3.1 27 42.2 0
EUFIR 86 73 84.9 14 16.3 71 82.6 1 1.2 12 14.0 2
i EL UL 53 36 67.9 45 84.9 8 15.1 0 B 0 - 1
% o LR, 68 61 89.7 43 63.2 24 35.3 1 1.5 20 29.4 0
TR 87 86 98.9 3 3.4 73 83.9 11 12.6 1 1.1 0
=81 63 50 79.4 33 52.4 24 38.1 6 9.5 36 57.1 0
B 1R 49 43 87.8 0 - 48 98.0 1 2.0 1 2.0 7
B 44 44 | 100.0 42 95.5 2 4.5 0 - 0 - 0
KERKF 22 15 68.2 11 50.0 3 13.6 8 36.4 0 - 2
ST 79 57 72.2 26 32.9 48 60.8 5 6.3 22 27.8 1
HEIR 29 6 20.7 3 10.3 26 89.7 0 - 1 3.4 0
Frsg L5 36 28 77.8 3 8.3 33 91.7 0 - 4 11.1 0
TR 37 36 97.3 0 - 37| 100.0 0 - 0 - 0
RIS 52 23 44.2 42 80.8 T 135 3 5.8 15 28.8 1
I Ly 1L 59 24 40.7 53 89.8 5 8.5 1 1.7 55 93.2 0
1 B 1R 53 41 77.4 32 60.4 15 28.3 6 11.3 25 47.2 1
1l YR 55 35 63.6 4 7.3 49 89.1 2 3.6 2 3.6 0
R 33 28 84.8 0 21.2 23 69.7 3 9.1 0 - 0
)11 43 33 76.7 15 34.9 0 - 28 65.1 2 4.7 0
IR 70 6 8.6 4 5.7 66 94.3 0 - 0 - 0
o 1L 53 43 81.1 41 77.4 10 18.9 2 3.8 0 - 0
LR 97 94 96.9 60 61.9 31 32.0 6 6.2 21 21.6 7
IR 49 49 | 100.0 43 87.8 6 12.2 0 - 18 36.7 0
IR 79 79| 100.0 50 63.3 28 35.4 1 13 0 - 0
fEAIR 90 79 87.8 77 85.6 12 13.3 1 1.1 67 74.4 0
Ko 58 58 | 100.0 0 - 58 | 100.0 0 - 0 - 0
IR 44 44 | 100.0 0 = 44| 100.0 0 - 0 - 0
[V 1, 32 22 68.8 23 71.9 9 28.1 0 - 23 71.9 0
R 53 53| 100.0 0 - 53| 100.0 0 - 0 - 40
SEE 2,738 | 2,120 774 1,158 42.3| 1,463 53.4 117 4.3 888 32.4 96
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1)t 122 21 17.2 2 1.6 27 22.1 1 0.8 3 2.5 0 -
2| ARIE 38 23 60.5 0 ~ 23 60.5 0 - 0 - 0 -
3 EFE 59 25 42.4 0 - 29 49.2 1 1.7 25 42.4 1 1.7
A E A 67 23 34.3 0 - 29 43.3 0 - 26 38.8 0 -
5| Fk H 5% 56 0 - 0 - 34 60.7 0 - 0 - 0 -
6| LR 44 0 = 0 - 2 4.5 0 # 0 - 0 -
7| R 89 54 60.7 0 = 55 61.8 1 1.1 0 - 0 -
8| K IR 82 6 7.3 7 8.5 4 4.9 0 - 7 8.5 0 -
9| HH AL 49 14 28.6 5 10.2 9 18.4 0 - 5 10.2 1 2.0
10| B IR 59 0 = 0 = 0 = 0 = 0 = 0 =
11|85 FE 18 74 9 12.2 7 9.5 2 2.7 0 - 7 9.5 0 -
12| F5E0 68 7 10.3 13 16.2 1 1.5 0 - 0 - 0 -
13| U8 53 15 28.3 5 9.4 2 3.8 0 o 6 11.3 0 -
14| fiZs) 1 1L 37 2 5.4 1 2.7 2 5.4 0 - 1 2.7 0 -
15| FHR IR 94 18 19.1 16 17.0 5 5.3 0 - 17 18.1 0 -
16| FFLLILR 35 6 17.1 3 8.6 3 8.6 0 - 3 8.6 0 -
17| BB 40 3 7.5 5 12.5 0 - 0 - 5 12.5 0 -
18| 4g 18 35 6 17.1 0 - 10 28.6 0 - 1 2.9 0 -

19| 1L BULR 64 26 40.6 7 10.9 14 21.9 0 - 9 14.1 0
20| EEFIR 86 61 70.9 15 17.4 59 68.6 0 - 12 14.0 2 2.3
21l BB, 53 23 43.4 39 73.6 7 13.2 0 - 0 - 1 1.9
22| 15 68 29 42.6 13 19.1 19 27.9 1 1.5 7 10.3 0 o
23| 41, 87 64 73.6 0 - 58 66.7 7 8.0 0 = 0 =
24| =& 63 9 14.3 3 4.8 7 11.1 2 3.2 2 > 0 -
25| B 15 49 34 69.4 0 - 40 81.6 0 - 0 - 5 10.2
26| HERIF 44 24 54.5 24 54.5 0 = 0 = 0 = 0 =
27| KIRRF 22 5 22.7 3 13.6 1 4.5 0 - 0 - 0 -
28| fLHEI 79 20 25.3 4 5.1 17 21.5 1 1.3 3 3.8 0 =
29| %5 LI 29 2 6.9 1 34 8 27.6 0 - 0 - 0 -
30| FragoLL R 36 3 8.3 0 - 4 11.1 0 - 0 £ 0 =
31| B U 37 36 97.3 0 - 34 91.9 0 - 0 - 0 -
32| AR, 52 23 44.2 42 80.8 6 11.5 2 3.8 14 26.9 1 1.9
33| WL 59 3 5.1 5 8.5 0 - 0 - 4 6.8 0 -
34 [7; B 18, 53 11 20.8 6 11.3 7 13.2 1 1.9 5 9.4 1 1.9
3510 g 55 16 29.1 1 1.8 23 41.8 0 - 0 - 0 -
36/ IR 33 6 18.2 0 = 5 15.2 0 - 0 - 0 -
37| B I 43 2 4.7 6 14.0 0 - 1 2.3 6 14.0 0 -
38| (B8, 70 2 2.9 2 2.9 20 28.6 0 - 0 - 0 -
30| 5 1 B 53 10 18.9 8 15.1 4 7.5 0 - 0 - 0 N
40| 48 (¥ 18, 97 11 11.3 0 - | 1.0 0 - 0 - 0 -
41| RN 49 0 - 0 - 0 - 0 - 0 - 0 -
42| EI85 18, 79 1 1.3 0 - 1 1.3 0 - 0 - 0 =
43| REAS IR, 90 1 1.1 1 1.1 0 - 0 - 1 1.1 0 -
44| K4 IR 58 0 - 0 = 0 o 0 = 0 - 0 -
45| I IR 44 1 2.3 0 - 1 2.3 0 - 0 - 0 -
46| FEVE B IR 32 3 9.4 6 18.8 0 - 0 - 6 18.8 0 -
47| R, 53 1 1.9 0 - 1 1.9 0 - 0 - 1 1.9
2@ 2,738 659 24.1 248 9.1 574 21.0 18 0.7 175 6.4 13 0.5
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NER: 3 123 77 62.6 26 21.1 87 70.7 10 8.1 19 15.4 0 -
2| B HIR 38 38 | 100.0 0 - 38| 100.0 0 - 0 - 0 =
I HFR 59 50 84.7 0 - 57 96.6 2 3.4 41 69.5 18 30.5
4| IR, 67 47 70.1 3 4.5 63 94.0 1 1.5 62 92.5 26 38.8
5| Bk H 55 0 - 0 - 55| 100.0 0 - 0 - 0 -
6/ LI 44 12 27.3 1 2.3 43 97.7 0 - 0 - 0 -
7| B R 89 86 96.6 0 - 88 98.9 1 1.1 0 - 0 -
8| KR 82 62 75.6 65 79.3 16 19.5 1 1.2 67 81.7 1 1.2
9| K A< 1. 49 49 | 100.0 44 89.8 4 8.2 1 2.0 47 95.9 6 12.2
10| B IR 59 58 98.3 57 96.6 1 1.7 1 1.7 59| 100.0 8 13.6
11| E L8 74 58 78.4 39 52.7 35 47.3 0 - 39 52.7 0 -
12| F-HELE 67 33 49.3 41 61.2 23 34.3 3 4.5 4 6.0 1 1.5
13| HIHR 53 50 94.3 38 71.7 7 13.2 8 15.1 42 79.2 1 1.9
14| fhizz) 118 37 32 86.5 8 21.6 29 78.4 0 - 8 21.6 0 -
15| g 94 79 84.0 66 70.2 21 22.3 7 7.4 75 79.8 0 -
16| Bl 33 33| 100.0 25 75.8 8 24.2 0 - 26 78.8 0 -
17| B )R 40 19 475 37 92.5 3 7.5 0 - 38 95.0 0 -
18| @ kR 35 20 57.1 2 5.7 33 94.3 0 - 2 5.7 0 -
19| 111541 60 50 83.3 20 33.3 38 63.3 2 3.3 26 43.3 0 -
20| L BFUL 82 65 79.3 13 15.9 67 81.7 2 2.4 12 14.6 2 2.4
21l EA 1, 51 28 54.9 42 82.4 6 11.8 3 5.9 0 - 2 3.9
22| {5 IR 68 60 88.2 36 52.9 30 44.1 2 2.9 13 19.1 0 -
23| 5] L 87 86 98.9 3 3.4 73 83.9 11 12.6 1 1.1 0 -
24| = EIE 63 46 73.0 33 52.4 23 36.5 7 11.1 37 58.7 0 -
25| B IR 49 42 85.7 0 - 49| 100.0 0 - 0 - 10 20.4
26| SLHERFF 43 43| 100.0 38 88.4 4 9.3 1 213 0 - 0 -
27| KERIF 22 14 63.6 11 50.0 3 13.6 8 36.4 0 - 2 9.1
28| [TE IR 79 56 70.9 25 31.6 50 63.3 4 5.1 21 26.6 1 1.3
20| Z RIS 29 6 20.7 3 10.3 25 86.2 1 3.4 0 - 0 -
30| F kLR 36 28 77.8 2 5.6 34 94.4 0 - 2 5.6 0 -
31| BHUR 35 35 100.0 0 = 35 100.0 0 = 0 = 0 =
32| AR IA 52 20 38.5 41 78.8 6 11.5 5 9.6 18 34.6 1 1.9
33| LR 56 23 41.1 45 80.4 6 10.7 5 8.9 50 89.3 0 =
34| /£ By W 53 39 73.6 32 60.4 14 26.4 7 13.2 26 49.1 2 3.8
35\ Uk 55 36 65.5 2 3.6 53 96.4 0 S 3 5.5 2 3.6
36| f518. 33 27 81.8 6 18.2 24 72.7 3 9.1 0 - 0 E
37| F )1 B 43 32 74.4 14 32.6 10 23.3 19 44.2 0 - 0 -
38| iR 1. 69 7 10.1 4 5.8 65 94.2 0 - 0 - 0 -
39| 1% 52 42 80.8 38 73.1 10 19.2 4 7.7 1 1.9 0 -
40|43 W 15 95 90 94.7 55 57.9 33 34.7 7 7.4 16 16.8 5 5.3
41| 1R I 49 49 | 100.0 35 71.4 14 28.6 0 - 10 20.4 0 -
42| Felgf U 79 79 100.0 50 63.3 28 35.4 1 1.3 0 - 0 -
43| fig4<IRL 90 76 84.4 72 80.0 14 15.6 4 4.4 66 73.3 2 2.2
44| K4y I8, 58 58 | 100.0 0 - 58| 100.0 0 - 0 - 0 -
45| BT 8L 44 44 | 100.0 0 - 44| 100.0 0 - 0 - 0 -
46| [FEYR 518, 32 22 68.8 23 71.9 9 28.1 0 - 23 71.9 0 -
47| dhmIE 53 53 | 100.0 0 - 53| 100.0 0 - 0 - 40 75.5
SEF 2,715 | 2,059 75.8| 1,095 40.3| 1,489 54.8 131 4.8 854 31.5 130 4.8
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1| At 18 8 44.4 2 11.1 10 55.6 6 33.3 3 16.7 1 5.6
2| R 1 1 100.0 0 - 1 100.0 0 S 0 = 0 =
3| HFR 2 1 50.0 0 - 1 50.0 1 50.0 0 - 1 50.0
4| 'F IR 3 3| 100.0 0 - 3| 100.0 0 - 2 66.7 0 -
5| Bk U 3 0 - 0 - 3| 100.0 0 - 0 - 0 -
A 3 0 - 0 - 3| 100.0 0 - 0 - 0 -
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23| BAIE 87 8| 9.2 10| 11.5 39 | 44.8 54 | 62.1 26| 29.9 2| 23 0 - 7| 8.0
24| = HIE 63 13 | 20.6 20| 31.7 21 B2 1| 1.6 0 - 2| 32 28 | 44.4 0 -
25| REER 18 49 9| 18.4 21| 429 11| 224 7| 143 0 - 3| 6.1 4| 8.2 1| 20
26| SUER T 44 43 | 97.7 | %8 0 - 0 - 0 - 0 - 0 - 0 -
27| KIRRF 22 1| 45 13| 59.1 3| 13.6 4| 182 0 - 0 - 1| 45 0 -
28| FLfiff 15 79 35| 44.3 22| 27.8 12| 15.2 6| 7.6 0 - 9| 114 2| 25 0 -
29| Z=RIB 29 13| 44.8 6| 20.7 0 - 1| 34 0 - 10| 34.5 0 = 0 -
30| Fn 1y 18 36 5| 13.9 10| 27.8 10| 27.8 5| 13.9 0 - 7] 19.4 2| 56 0 -
31| B ERIE 37 36 | 97.3 1| 27 0 - 0 - 0 - 0 = 0 - 0 -
32| B RIE 52 4| 77 26| 50.0 19| 36.5 : () 0 - 1| 19 2| 3.8 3| 58
33| L 59 19 | 32.2 37| 62.7 1| 1.7 1| 1.7 0 - 2| 34 2 54 0 -
34|[E B8 53 17| 824 11| 20.8 7| 13.2 11| 20.8 0 - 5| 94 2| 38 1| 19
35[0 18 55 11 | 20.0 16| 29.1 7| 12.7 50 9.1 0 - 16| 29.1 2| 386 0 =
36| IR 33 9| 27.3 15| 45.5 1| 3.0 3| 9.1 0 - 6| 18.2 0 - 0 -
37| 81|18 43 29 | 67.4 4| 93 0 - 11| 25.6 0 - 0 - 0 - 0 -
38| T BLE 70 8| 114 2| 29 38 | 54.3 0 - 18| 25.7 6| 86 0 - 0 -
397 A1 53 0 - 10| 18.9 2| 38 0 - 0 - 13| 24.5 32| 60.4 0 -
40| 42 [H IR 97 86 | 88.7 8| 82 1| 1.0 0 - 0 - 2| 24 1| 1.0 0 -
41| 3518 49 13| 26.5 0 -l 36| 735 0 = 0 - 0 - 0 - 0 -
42| IR 79 28 | 35.4 40 | 50.6 11| 13.9 0 - 0 - 0 - 0 - 0 -
43| A 18 90 78 | 86.7 8| 89 2| 22 2| 23 0 - 6| 6.7 0 - 1| @
44| KA4HIE 58 44 | 75.9 0 - 6| 10.3 16| 27.6 0 - Ll B2 0 - 0 -
45| ‘=18, 44 39 | 88.6 0 - 8| 18.2 4| 9.1 1| 23 0 - 0 - 0 -
46| FEVR &R 32 19| 59.4 0 - 12| 37.5 0 - 0 - 0 - 0 -l 1| 31
47| PRI 53 0 - 12| 22.6 0 -| 41| 774 0 - 0 - 0 - 0 -
2EH 2,738 | 1,033 | 37.7| 634| 23.2| 591 21.6| 332| 12.1 4| 17| 201| 7.3 91| 3.3 16| 0.6
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1| dkigl 123 32| 26.0 45 | 36.6 7 .7 7 ol 0 = 26| 21.1 5 4.1 2 1.6
2| RIS 38 0 = 37| 97.4 1 2.6 0 = 0 oz 0 - 0 - 0 -
I AEFIR 59 1 1.7 1 1.7 49 | 83.1 51| 86.4 0 = 8| 13.6 0 = 0 =
4 = bR 67 2 3.0 61| 91.0 1 1.5 0 o 0 m 2 3.0 1 1.5 0 =
5{FKH U 55 12| 21.8 0 s 0 = 44 | 80.0 0 = 0 = 0 = 0 =
6| L 44 33 | 75.0 71 159 2 4.5 0 = 0 = 0 = 2 4.5 0 =
7|8 Bt 89 30 | 33.7 3 3.4 54| 60.7 2 22 0 o 0 =t 0 2 0 =
8| S I U 82 8 9.8 12| 14.6 56 | 68.3 12| 14.6 0 - 3 3.7 0 = 0 -
9| Hp A< 15 49 46 | 93.9 3 6.1 0 - 0 = 0 - 1 2.0 0 = 0 -
10| B IR 59 56 | 94.9 3 5.1 0 = 0 S 0 = 0 = 0 ~ 0 =
11| EE 74 15| 20.3 18| 24.3 38| 514 5 6.8 0 o 0 = 1 1.4 0 =
12| THER 67 26 | 38.8 39| 58.2 1 15 4 6.0 0 - 2 3.0 0 o 1 5
13| EHR 53 6| 11.3 8| 15.1 37| 69.8 1 1.9 0 = 2| 3.8 0 Ao 0 =
14| fhZz) 1| G 37 3 8.1 1 2.7 32| 86.5 1 2T 0 - 0 £ 0 = 0 =
15| g8 18 94 41 | 43.6 28 | 29.8 14 | 14.9 7 7.4 1 1.1 = 2.1 1 1.1 0 -
16{ & LL1& 33 22 | 66.7 8| 24.2 0 - 2 6.1 0 -4 0 - 1 3.0 0 =
17| G115 40 10 | 25.0 4| 10.0 24| 60.0 2 5.0 0 = 1 AT 0 0 =
18| @15 35 1 2.9 14 | 40.0 11| 314 | A 0 = 3 8.6 0 - 0 -

19] LI BULE 60 35 | 58.3 23| 38.3 1 2 19k 3 5.0 0 = 2 3.3 0 = 0
20| EBFIR 82 21 | 25.6 o 3.7 2.4 3 3.7 1 1.2 48 | 58.5 1 s 3 3.7
21| e By 18 51 30 | 58.8 14| 27.5 0 = 0 o 0 o 6] 11.8 0 = 4 7.8
22| i o L 68 23| 33.8 1 1.5 36| 51.5 8| 11.8 0 = 0 S 1 1.5 0 o
23| AR 87 7 8.0 10| 11.5 38 | 43.7 54| 62.1 25 | 28.7 o 2.3 0 = 8 9.2
24| =HIR 63 15| 23.8 17| 27.0 2 3.2 0 i 0 = 2 3.2 28 | 44.4 1 1.6
25| I8 49 6| 12.2| 22| 449 10| 20.4 9| 184 0 4 2 4.1 3 6.1 0 -
26| SUHRIE 43 42 | 97.7 1 23 0 = 0 = 0 £t 0 2 0 = 0 =
27| KBRHF 22 1 4.5 13| 59.1 3| 13.6 4| 18.2 0 = 0 = 1 4.5 0 =
28| [LEIR 79 36 | 45.6 22| 27.8 11.| 13.9 6 7.6 0 = 9| 114 2 2.5 0 &
29| Z5 R IE 29 12| 41.4 6 20.7 0 = 1 34 0 = 10| 34.5 0 = 1 3.4
30| F0 i L = 36 5| 13.9 10| 27.8 10| 27.8 41 11.1 0 = 6| 16.7 2 5.6 0 =
31| J5 Hie 8 35 35 (100.0 0 = 0 = 0 = 0 = 0 = 0 = 0 -
32| BHIE 52 4 7.7 25| 48.1 19| 36.5 0 = 0 = 1 1.9 2 3.8 43 5.8
33| [ 1L 18 56 17 | 30.4 33| 58.9 0 - 0 i 0 = 3 5.4 0 = 3 5.4
REITN 53 17| 32.1 12| 22.6 71 13.2 10| 18.9 0 = 5 9.4 2 3.8 1 1.9
35|11 118 55 11| 20.0 167|273 3 65 TN 127 0 - 19| 34.5 2 3.6 0 -
36| il B IR 33 9| 273 15| 45.5 1 3.0 3 9.1 0 = 5| 15.2 0 = 1 3.0
37| F B 43 27 | 62.8 6| 14.0 0 = 11| 25.6 0 = 0 = 0 = 0 =
38| TR 69 8| 11.6 21 29 37| 53.6 0 - 17 | 24.6 6| B.7 0 = 0 =
39| AR 52 0 = 9 17.3 2|1 3.8 0 s 0 - 12 1:23.1 31| 59.6 1 1.9
40| #5 f 5L 95 83| 874 8 8.4 1 1.1 0 — 0 - 2 2.1 1 1.1 1 1.1
41| B 49 13| 26.5 0 = 36| 73.5 0 ~— 0 = 0 = 0 = 0 =
42| Fl I 79 28 | 35.4 40 | 50.6 11| 13.9 0 = 0 = 0 = 0 = 0 =
43| filE AL 90 75| 83.3 9 10.0 2 2.2 3 3.3 0 = 5 5.6 0 = 8 3.3
44| K415, 58 44 | 75.9 0 - 5 8.6 17| 29.3 0 = 1 1.7 0 = 0 =
45| IR 44 39 | 88.6 0 = 8| 18.2 4 9.1 1 2.3 0 = 0 = 0 -
46/ [ V2 B U 32 20 | 62.5 0 - 12| 375 0 = 0 o 0 = 0 & 0 =
47| phi R 53 0 = 120226 0 - 41| 77.4 0 = 0 X 0 = 0 -
S 2,715 | 1,007 | 37.1 620 | 22.8 583 | 21.5 332 | 122 45 1.7 196 7.2 87| 3.2 33 1.2
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1|t g 18 41| 222 5| 27.8 1| 5.6 4 222 0 - 3! 16.7 1| 5.6 4| 222
2| IR 1 1 /100.0 0 - 0 - 0 - 0 - 0 - 0 0 -
I EFR 2 0 - 0 - 1| 50.0 1| 50.0 0 - 0 - 0 - 1| 50.0
4| ErpRE. 3 1| 333 1| 333 1| 33.3 0 - 0 - 0 - 0 - 0 -
5| Bk FH 1R 3 1| 333 0 - 0 - 31100.0 0 - 0 - 0 - 0 -
6| 1L LR 3 2| 66.7 1| 333 0 - 0 - 0 - 0 - 0 - 0 -
7|1 R 1 1 (100.0 0 - 0 - 1 1100.0 0 - 0 - 0 - 0 -
8| kIR 1 0 - 0 - 1 1100.0 0 - 0 - 0 - 0 - 0 -
9| Hi AR 1 1 /100.0 0 - 0 - 0 - 0 - 0 - 0 - 0 -
10| BEEB IR 6 3| 50.0 0 - 2| 33.3 0 - 0 - 0 - 0 - 1| 16.7
11| i E U 5 3| 60.0 1| 20.0 1| 20.0 0 - 0 - 0 - 0 - 0 -
12| FHER 7 4| 57.1 4| 57.1 0 - 1| 14.3 0 - 0 - 0 - 0 -
13| B ER 1 1 {100.0 0 o 0 = 0 - 0 - 0 - 0 = 0 =
14| ) 1| 15 4 2| 50.0 0 - 2| 50.0 0 - 0 - 0 - 0 - 0 -
15| FriRE 1 1 [100.0 0 = 0 S 0 - 0 - 0 - 0 = 0 S
16| @ 1L 1 1 {100.0 0 - 0 - 0 - 0 - 0 - 0 - 0 -
17| G )11 3 1| 333 0 - 0 - 0 - 1| 333 0 - 0 - 1| 333
18| fE 1R =
19| 1L LR 2 0 - 1| 50.0 0 - 0 - 0 - 0 - 0 - 1| 50.0
20| E#F IR 2 0 - 0 - 0 - 0 - 0 - 2 1100.0 0 - 0 -
21|l EA AL 1 1 {100.0 0 - 0 - - 0 - 0 - 0 - 0 -
22| i UL 5 2| 40.0 0 - 0 - 1| 20.0 0 - 0 - 0 - 2| 40.0
23| AR 2 1| 50.0 1| 50.0 2 (100.0 1| 50.0 1| 50.0 0 - 0 - 0 -
24(=&EIR -
25| BEHE IR 2 0 - 1| 50.0 0 E 1| 50.0 0 - 0 - 0 - 0 -
26| SUERHT 1 1 {100.0 0 - 0 E 0 - 0 - 0 - 0 - 0 -
27| KB FF 2 1| 50.0 0 - 1| 50.0 0 - 0 - 0 - 0 - 0 -
28| IR 8 4| 50.0 1| 125 2| 25.0 2| 25.0 0 - 1| 125 0 - 0 -
29(Z=RIR 2 2 (100.0 1| 50.0 0 - 0 - 0 - 1| 50.0 0 - 0 -
30| F1 kL% 3 2| 66.7 0 - 0 - 1| 33.3 0 - 0 - 0 - 0 -
31| B HUR 1 1 {100.0 0 - 0 - 0 - 0 - 0 - 0 - 0 -
32| HRE 2 0 - 1| 50.0 1| 50.0 0 - 0 - 0 - 0 - 0 -
33|18 3 2| 66.7 1| 333 1| 333 1| 333 0 - 0 - 0 - 1| 333
34| &I 3 1| 333 0 - 0 - 1| 333 0 - 0 - 1| 333 0 -
35[0l 1R 1 1 {100.0 0 - 0 - 0 - 0 - 0 - 0 - 0 B
36| 5y 15, 3 0 - 1| 33.3 0 - 0 - 0 - 2| 66.7 0 - 1| 333
37| BB 2 1| 50.0 1| 50.0 0 - 0 - 0 - 0 - 0 - 0 -
38| 4B 18, 1 0 - 0 - 0 - 1 /100.0 1 /100.0 0 - 0 - 0 -
39| & AR 2 0 - 0 - 0 - 0 - 0 - 0 - 2 1100.0 0 -
40|18 15 7 6| 85.7 1] 14.3 0 - 0 - 0 - 0 - 0 - 0 -
41| IR =
42| EIR 1 1 {100.0 0 - 0 - 0 - 0 - 0 - 0 - 0 -
43| REAIR 2 2 (100.0 0 - 0 - 0 - 0 - 0 - 0 - 0 -
44| F 4 1 1 {100.0 0 - 0 - 0 - 0 - 0 - 0 - 0 -
45| B IR 1 1 {100.0 0 - 1 /100.0 0 - 1 {100.0 1 {100.0 0 - 0 -
46| FER By 18, 2 2 (100.0 1| 50.0 0 - 1| 50.0 0 - 1| 50.0 0 - 0 -
47| MR =
£EEt 123 60 | 48.8 23| 18.7 17| 13.8 20| 16.3 4| 3.3 11| 8.9 4| 33 12| 9.8
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1|4t 122 5 4.1 27 22.1 10 8.2 77 63.1 1 0.8 4 3.3
2| AR 38 1 2.6 2 53 1 2.6 30 78.9 4 10.5 1 2.6
3 EFR 59 2 3.4 4 6.8 51 86.4 g 3.4 & 3.4 1 1.7
4| BIRIE, 67 3 45 0 - 7 10.4 54 80.6 5 7.5 1 1.5
5| FkH I8 56 0 - 0 - 0 - 56 | 100.0 0 - 1 1.8
6| LLIEIE 44 1 2.3 2 4.5 1 2.3 37 84.1 3 6.8 1 2.3
711 EEE 89 2 o 3 3.4 o 84 94.4 0 - 1 1.3
8RR 82 0 = 4 4.9 46 56.1 32 39.0 1 1.2 /h 1.2
9| K AR 49 0 - 1 2.0 47 95.9 0 - 2 4.1 1 2.0
10| BB 1 59 1 1.7 55 93.2 2 3.4 2 3.4 1 17 1 1.7
1B ER 74 0 - 8 10.8 41 55.4 14 18.9 11 14.9 0 =
12| F3ER 68 4 5.9 6 8.8 9 13.2 46 67.6 5 7.4 1 1.5
13| B EH 53 0 - 2 3.8 45 84.9 4 7.5 3 5.7 1 1.9
14| #ZE) 1118 37 0 - 4 10.8 22 59.5 9 24.3 2 5.4 1 2.7
15| FFiB 15 94 2 2.1 14 14.9 10 10.6 64 68.1 2 2.1 2 2.1
16| & LLI5 35 0 - 9 25.7 1 2.9 24 68.6 1 2.9 1 2.9
17| )11 40 2 5.0 5 12.5 2 5.0 31 77.5 0 - 1 2.5
18|48 318, 35 2 5.7 2 5.7 ) 5.7 28 80.0 1 2.9 0 -
19{1LAUR 64 3 4.7 1 1.6 9 14.1 49 76.6 2 3.1 2 3.1
20| BB IR 86 6 7.0 4 4.7 5 5.8 64 74.4 7 8.1 2 2.3
21|l 18, 53 4 13.2 4 7.5 37 69.8 6 11.3 2 3.8 2 3.8
22| UL 68 g 2.9 7 10.3 46 67.6 12 17.6 1 1.5 0 -
23| B 4115 87 53 60.9 11 12.6 4 4.6 13 14.9 0 - 10 11.5
24| =HEIR 63 7 NI | 3 4.8 0 - 55 87.3 3 48 0 =
25| B B 49 15 30.6 19 38.8 5 4.1 20 40.8 3 6.1 2 4.1
26| FUERRT 44 3 6.8 16 36.4 5 11.4 1 2.3 20 45.5 0 -
27| KERRT 22 0 - 2 9.1 18 81.8 2 9.1 0 - 0 -
28] I 79 13 16.5 11 13.9 25 31.6 28 35.4 3 3.8 1 1.3
29/ Z5 18 29 12 41.4 2 6.9 2 6.9 13 44.8 0 - 2 6.9
30| F kLS 36 2 5.6 5 13.9 3 8.3 26 72.2 1 2.8 1 2.8
C

31| By EUR 37 0 - 37| 100.0 0 - 0 =~ 0 - 1 2.7
32| B HRIR 52 4 7.7 5 9.6 17 32.7 27 51.9 1 1.9 2 3.8
33| [ LR 59 5 8.5 26 44.1 4 6.8 o7 45.8 0 - 1 1.7
34| [5 BIR 53 3 5.7 6 11.3 1 1.9 40 75.5 3 5.7 1 1.9
35( L 1R 55 8 14.5 8 14.5 2 3.6 37 67.3 2 3.6 1 1.8
36/ 15 33 3 9.1 9 27.3 2 6.1 19 57.6 1 3.0 1 3.0
37| &)1 R 43 1 2.3 2 4.7 0 - 40 93.0 0 - 1 2.3
38| S IBUL 70 7 10.0 3 4.3 2 2.9 58 82.9 2 2.9 2 2.9
39/ 18 418 53 4 7.5 2 3.8 18 34.0 30 56.6 0 - 1 1.9
40| 4 W 1R 97 0 - 22 22.7 70 722 3 3.1 4 4.1 1 1.0
41| IR 49 6 12.2 14 28.6 29 59.2 0 - 0 - 0 -
42| FEyIR 79 43 54.4 6 7.6 8 10.1 14 17.7 8 10.1 0 -
43| R4 90 9 10.0 35 38.9 18 20.0 23 25.6 5 5.6 4 4.4
44| KA IR 58 0 - 20 34.5 45 77.6 0 = 0 - 0 =
45| BT IR 44 7 15.9 35 79.5 0 - 8 18.2 0 - 1 2.3
46/ VR By IR 32 0 - 11 34.4 10 31.3 12 37.5 1 3.1 1 31
47| Fhgp i 53 2 3.8 1 1.9 1 1.9 50 94.3 0 = 0 -
e 2,738 250 9.1 475 17.3 682 249 1,271 46.4 113 4.1 60 2.2
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1|4t 123 5| 4.1 27 22.0 9 7.3 77 62.6 0 - 6 4.9
2| R 38 1 2.6 2 5.3 1 2.6 30 78.9 4 10.5 1 2.6
3 HFIR 59 2 3.4 4 6.8 50 84.7 2 3.4 2 3.4 2 3.4
4| B BRI 67 4 6.0 0 - 5 7.5 55 82.1 4 6.0 1 1.5
5| Bk IR 55 0 = 0 = 0 ™ 55 100.0 0 = 1 1.8
6| LLI YR 44 1 o8 2 4.5 1 2.3 37 84.1 3 6.8 1 25
7| %R 89 2 2.2 3 34 2 2.0 84 94.4 0 - 1 LY
8| b 82 0 4 4.9 45 54.9 32 39.0 1 1.2 1 )
9| H5 AU 49 0 - 0 - 49 | 100.0 0 B 0 - 1 2.0
10| #5515 59 1 1.7 55 93.2 2 34 1 1.7 1 1.7 1 1.7
11| E L8 74 0 - 8 10.8 41 55.4 14 18.9 11 14.9 0 -
12| F3EE 67 4 6.0 6 9.0 8 11.9 46 68.7 4 6.0 2 3.0
13| E3LE 53 0 - 2 3.8 45 84.9 4 7.5 3 5.7 1 1.9
14| fii g 1| 15 37 0 - 4 10.8 22 59.5 9 24.3 2 5.4 1 2.7
15| g1 94 3 3.2 15 16.0 10 10.6 64 68.1 1 Tl 1 1.1
16| & LR 33 0 - 9 27.3 1 3.0 22 66.7 1 3.0 1 3.0
17| )18 40 2 5.0 5 12.5 2 5.0 31 77.5 0 - 1 2.5
18| fE 1R 35 1 2.9 2 5.7 2 5.7 29 82.9 1 2.9 0 -
19| 1L 60 1 1.7 3 5.0 8 13.3 45 75.0 1 1.7 3 5.0
20( E$F I8 82 7 8.5 4 4.9 6 7.3 56 68.3 6 7.3 5 6.1
21 EA UL 51 3 5.9 2 3.9 37 72.5 6 11.8 0 - 4 7.8
22| i [ 15 68 2 2.9 7 10.3 46 67.6 12 17.6 1 1.5 0 =
23| 5% 1 4. 87 52 59.8 11 12.6 4 4.6 13 14.9 0 - 11 12.6
24(=@E 63 9 14.3 3 4.8 0 - 52 82.5 3 4.8 0 -
25| REHT UL 49 13 26.5 21 42.9 2 4.1 18 36.7 3 6.1 1 2.0
26| TUER T 43 3 7.0 16 37.2 5 11.6 1 2.3 19 44.2 0 -
27| KB FF 22 0 - 2 9.1 18 81.8 2 9.1 0 - 0 -
28| ST IR 79 15 19.0 9 11.4 26 32.9 27 34.2 3 3.8 1 1.3
29(Z5 B 29 12 41.4 2 6.9 2 6.9 12 41.4 0 - 3 10.3
30| Fr sl L 36 2 5.6 5 13.9 3 8.3 26 72.2 2 5.6 1 2.8
31| B 35 0 - 35| 100.0 0 - 0 - 0 - 1 2.9
32| BRI 52 4 7.7 6 1L.5 17 32.7 27 51.9 1 1.9 2 3.8
33| [ L0 U 56 5 8.9 21 37.5 4 7.1 24 42.9 0 - 4 7.1
34|15 By 18 53 3 5.7 5 9.4 1 1.9 41 774 3 5.7 1 1.9
35(LL R 55 7 12.7 9 16.4 1 1.8 38 69.1 1 1.8 0 B
36| HEIR 33 2 6.1 10 30.3 2 6.1 20 60.6 1 3.0 1 3.0
37| FI & 43 0 - 2 4.7 0 - 40 93.0 1 2.3 1 2.3
38| RIS, 69 7 10.1 3 4.3 1 1.4 58 84.1 2 2.9 2 2.9
39| 7 411, 52 5 9.6 1 1.9 19 36.5 26 50.0 1 1.9 3 5.8
40|75 I 95 0 - 22 23.2 67 70.5 3 3.2 4 4.2 ) 2.1
41| 49 6 12.2 14 28.6 29 59.2 0 - 0 - 0 =
42| B8, 79 43 54.4 6 7.6 8 10.1 14 17.7 8 10.1 0 -
43| fE A1 90 10 11.1 30 33.3 19 21.1 26 28.9 4 4.4 5 5.6
44| K415 58 0 - 20 34.5 45 77.6 0 - 0 - 0 #
45| B IR 44 7 15.9 35 79.5 0 - 8 18.2 0 - 1 2.3

46|[E\R B IE 32 0 - 12 37.5 9 28.1 12 37.5 1 3.1 1 3.1
47| RIS 53 2 3.8 1 1.9 1 1.9 50 94.3 0 = 0 5

£EE 2,715 246 9.1 465 17.1 675 24.9| 1,249 46.0 103 3.8 76 2.8
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1 dkieE 18 1 5.6 6 33.3 1 5.6 8 44.4 0 = 5 27.8
2| HHER 1 0 - 0 - 0 = 1 100.0 0 - 0 -
3 EFR 2 0 ¥ 0 - 1| 500 0 i 0 ] 1| 500
4| B hgIe. 3 0 = 0 = 2 66.7 1 33.3 0 = 0 4
5| FkH I8 3 0 - 0 = 0 - 3 100.0 0 = 0 =
6| Ll I5 3 0 - 0 = 1 33.3 2 66.7 0 - 0 =
7| R 1 0 = 0 = 0 - 1 100.0 0 - 0 =
8| IR 1 0 - 0 - 0 s 1 100.0 0 = 0 e
9| M5 AW 1 0 - 1 100.0 0 = 0 £ 0 = 0 —
10| EERIR 6 0 - 3 50.0 2 333 0 i 0 - 1 16.7
11|85 F 5 (53 0 - 1 20.0 3 60.0 1 20.0 0 = 0 px
12| FEEIR 7 0 - 0 - 2 28.6 4 57.1 1 14.3 0 i
13| 1 0 ad 0 - 1 100.0 0 = 0 = 0 -
14| #pZ )1 E 4 0 - 1 25.0 2 50.0 2 50.0 0 Ee 0 =
15| #rig it 1 0 = 0 - 2 100.0 0 = 0 o 0 -
16| & 1L 1 0 - 1 100.0 0 - 0 = 0 o 0 =
17| B 3 0 - 0 § 0 . 2| 667 0 4 1| 333
18| R 5
19| 1L F48L 2 0 = 0 - 0 = 0 - 1 50.0 1 50.0
20| &2 1R 2 0 - 0 - 0 - 1 50.0 1 50.0 0 =
21|l 18 1 1 100.0 0 = 1 100.0 0 £ 0 £ 0 =
22| 15 5 0 - 2 40.0 1 20.0 0 - 0 - 2 40.0
23| 5 4 L . 1 50.0 X 100.0 1 50.0 1 50.0 0 s 0 =
24{ = =
25| B IR 2 1 50.0 0 = 0 3 1 50.0 0 - 0 -t
26| ELET T 1 1 100.0 0 - 0 - 0 7= 0 £ 0 =
27| KB ITF 2 0 - 0 = 2 100.0 0 = 0 iy 0 o
28| fefiElE 8 1 12.5 3 37.5 5 62.5 1 12.5 0 = 0 =
20| 2 LI 5 1| 500 1| 500 1| 500 1| 500 0 d 0 i
30| F L 5 3 1 33.3 0 = 0 - 2 66.7 0 - 0 -
31| B HUR 1 0 = 1 100.0 0 s 0 C2 0 - 0 -
3| B 2 0 . 1| 500 1| 500 1| 500 0 = 0 <
33| i Ly 3 1 33.3 0 - 0 - 2 66.7 0 = 1 33.3
34| 5 &8 3 0 - 0 - 1 33.3 2 66.7 0 S 0 =
35| Ly 1 1 0 d 0 ) 1| 1000 0 - 0 - 0 .
36| AR 3 0 - 0 - 0 e 2 66.7 0 = 1 33.3
371 %) 1B 2 0 - 0 - 0 - 2 100.0 0 = 0 =
38| 4R 1. 1 0 - 0 - 0 - 1 100.0 0 = 0 =
39| & A5 2 0 - 0 - 2 100.0 0 s 0 = 0 =
A0 75 ) 15, 7 0 - 3 42.9 4 57.1 0 - 0 - 0 -
1| R x
42| Ee . 1 0 - 1 100.0 0 - 0 - 0 = 0 =
43| AR 2 1| 500 2| 100.0 1 500 1| 500 0 . 0 .
2| K5 1 0 2 0 — 1| 1000 0 s 0 - 0 !
45| ST I IR 1 0 = 1 100.0 0 = 1 100.0 0 = 0 e
46| FEVR B 18, 2 0 - 1 50.0 2 100.0 1 50.0 0 = 0 =
a7| MR -
2EHE 123 10 8.1 31 25.2 40 32.5 46 37.4 3 2.4 13 10.6
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A B R 33 2 6.1 31 93.9 0 = 0 =
5| Bk 15 13 0 - 13 100.0 0 - 0 -
6| L2 L 6 0 = 6 100.0 0 = 0 5
7|48 B R 61 2 3.3 59 96.7 0 = 0 =
8| kR 59 9 15.3 50 84.7 0 = 0 i
9| $i5 AL ] 1 100.0 0 = 0 = 0 =
10| BB 29 14 48.3 15 51.7 0 - 0 =
11| EE 19 2 10.5 17 89.5 0 - 0 -
12| FHEIE 26 9 34.6 17 65.4 0 = 0 -
13| HEUHR 11 9 81.8 2 18.2 0 = 0 o
14| #hEE 1| 18 12 3 25.0 9 75.0 0 - 0 -
15| §r i 16 12 2 16.7 10 83.3 0 - 0 -
16| & LR 9 0 = 9 100.0 0 - 0 -
17|51 ] 6 0 = 6 100.0 0 - 0 -
18| #8 H: 18 18 1 5.6 17 94.4 0 - 0 T
19] 1Ly B4 1EL 2 0 = 2 100.0 0 - 0 -
20| EHFIL 4 0 - 4 100.0 0 = 0 -
21| B IRL 9 2 22.2 7 77.8 0 - 0 —
22| itp [ 5L 44 i 6.8 41 93.2 0 2 0 =
23| B AR 10 3 30.0 6 60.0 0 - 1 10.0
24| =@HIR 26 2 7.7 24 92.3 0 - 0 -
25| i IR 20 1 5.0 18 90.0 0 = 1 5.0
26| TLERIEF 17 0 e 17 100.0 0 = 0 £
27| KR 19 4 21.1 15 78.9 0 - 0 -
28| I /i I8 50 10 20.0 40 80.0 0 = 0 =
20|45 RLIE 19 2 10.5 16 84.2 1 53 0 1w
30| F A LR 12 1 8.3 11 91.7 0 = 0 =
31| By EUR 9 1 11.1 8 88.9 0 - 0 -
32| BHR 2 1 50.0 1 50.0 0 . 0 "
33| i L R 35 1 29 34 a7.1 0 = 0 =
34| [ 1A 10 0 2 10 100.0 0 = 0 T
35| 100 R 13 3 23.1 10 76.9 0 - 0 -
36| 51 20 1 5.0 19 95.0 0 = 0 =
37| &) B 13 0 = 13 100.0 0 = 0 =
38| a7 15 7 0 - 7 100.0 0 = 0 =
39| /6 A 15 7 0 = 6 85.7 0 = 1 14.3
40! 45 [ 15, 9 T 77.8 2 29:9 0 = 0 =
41| IR =
42| E iy 15 29 9 31.0 20 69.0 0 = 0 -
43| B A1 7 3 429 3 42.9 0 - 1 14.3
44| K4 IR 14 5) 35.7 9 64.3 0 - 0 =
45| BRI 15 15 100.0 0 = 0 - 0 -
A6 V8 B 18 10 2 20.0 8 80.0 0 = 0 =
47| IR 52 s 13.5 45 86.5 0 = 0 =
EE 832 140 16.8 687 82.6 1 0.1 4 0.5
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1|4k 20 4 20.0 1 5.0 12 60.0 1 5.0 2 10.0
21 e 5 0 = 0 = 4 80.0 0 - 1 20.0
3 EFE 5 1 20.0 0 = 4 80.0 0 = 0 .
EIRCS 1= 31 8 25.8 1 3.2 21 67.7 0 = I 3.2
5|k I 13 0 = 13 100.0 0 = 0 = 0 =
6| LI iz IR 6 0 - 1 16.7 5 83.3 0 = 0 =
G121 59 0 - 3 5.1 56 94.9 0 = 0 ==
8| kIR 50 2 4.0 B 10.0 34 68.0 7 14.0 2 4.0
9| AU -
10| BB IR 15 12 80.0 0 - 2 13.3 0 - 1 6.7
1114 1% 17 1 59 1 5.9 15 88.2 0 - 0 -
12| F5EIR 17 0 == b 294 12 70.6 0 - 0 =
13| L #B 2 0 - 0 - 2 100.0 0 - 0 -
14| FRZE) 1| 5L 9 0 =t 0 e 9 100.0 0 - 0 -
15| #iis B 10 1 10.0 2 20.0 5 50.0 0 - 2 20.0
16| & 11158 9 0 - 0 - 9 100.0 0 = 0 =
17/ 56 )1 5 6 1 16.7 0 ) 4 66.7 0 - 1 16.7
18}k 17 2 11.8 0 . 15 88.2 0 - 0 -
19{ L1548 2 0 - 0 - 2| 100.0 0 - 0 -
20| EEFIR 4 0 = 0 - 4| 100.0 0 - 0 -
21 |l B2 IR 7 3 42.9 3 42.9 1 14.3 0 - 0 =
22| i UL 41 0 = 25 61.0 16 39.0 0 - 0 -
23| ) IR 6 6 100.0 0 = 0 = 0 2 0 7
24| =H IR 24 5 20.8 4 16.7 15 62.5 0 = 0 =
25| B IR 18 6 33.3 3 16.7 8 44.4 1 5.6 0 -
26| FUES I 17 6 35.3 3 17.6 8 47.1 0 = 0 -
27| KERRE 15 1 6.7 5 33.3 8 53.3 0 - 1 6.7
28| [Tl 18 40 6 15.0 11 27.5 21 52.5 % 5.0 0 =
20| Zm BRI 16 2 12,5 3 18.8 9 56.3 0 - 2 125
30/ Fn il 11 4 36.4 0 - 7 63.6 0 - 0 -
31| B HIR 8 0 = 1 12.5 7 87.5 0 - 0 ™~
32| BRI 1 0 e 0 = 3 100.0 0 = 0 =
33| b Ll U 34 24 70.6 1 2.9 9 26.5 0 - 0 -
34| 7 B 10 1 10.0 1 10.0 8 80.0 0 - 0 -
3510 O 10 2 20.0 1 10.0 6 60.0 0 = 1 10.0
36/ 515 19 2 10.5 1 5.3 16 84.2 0 = 0 o
37| &) 13 4 30.8 3 231 6 46.2 0 = 0 -
38| G 45 15, 7 1 14.3 1 14.3 5 71.4 0 e 0 =
39| @ AR 6 1 16.7 1 16.7 2 33.3 0 = 2 33.3
40| 8 15 55 0 =~ 1 50.0 1 50.0 0 = 0 =
41| e -
42| L. 20 1 5.0 11 55.0 8 40.0 0 = 0 =
43| flg 41 3 0 = 0 = 3 100.0 0 - 0 =
44| KR 9 9 100.0 0 = 0 = 0 B 0 =
45| MR -
46| IR &R 8 3 37.5 0 = 5 62.5 0 - 0 -
47| PR 45 4 8.9 1 2.2 39 86.7 1 2.2 0 =
4 E it 687 123 17.9 112 16.3 424 61.7 12 1.7 16 2.3
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1| 4t i 122 116 95.1 5 4.1 1 0.8 0 -

2| # PR I8 38 32 84.2 5 13.2 1 2.6 0 -

3 H T 59 57 96.6 2 3.4 0 - 0 -

4 B IR 67 66 98.5 1 1.5 0 - 0 -

5| Bk I 58 58 100.0 0 - 0 - 0 -

6| LLI U 44 42 95.5 2 4.5 0 - 0 -

7\ 4 . 89 87 97.8 2 2.2 0 - 0 -

8| K BRI 82 82 100.0 0 - 0 - 0 -

9| K5 A1, 49 27 55.1 22 44.9 0 - 0 -
10| i 5518, 58 55 94.8 3 5.2 0 - 0 -
11| FEE 74 74 100.0 0 - 0 - 0 -
12| F-HEE 67 66 98.5 1 1.5 0 - 0 -
13| HHUHR 53 53 100.0 0 - 0 - 0 -
14| F%E) 1|15 37 37 100.0 0 - 0 - 0 -
15| ¥ 618 94 92 97.9 2 2.1 0 - 0 -
16| B L 1R 35 30 85.7 5 14.3 0 - 0 -
17|45 )1 40 40 100.0 0 - 0 - 0 -
18|18 H:18, 35 31 88.6 4 11.4 0 - 0 -
19/ L BLE, 63 60 95.2 2 3.2 1 1.6 0 -
20/ B 86 85 98.8 1 1.2 0 - 0 -
21 I EL U, 53 51 96.2 g 3.8 0 - 0 -
22| p [ 15 71 71 100.0 0 - 0 - 0 -
23| ) 5L 76 65 85.5 10 13.2 0 - 1 1.8
24| = FEIR 63 58 92.1 5 7.9 0 - 0 -
25| HE 4 I 49 48 98.0 1 2.0 0 - 0 -
26| HUEBIF 44 44 100.0 0 - 0 - 0 -
27| KR T 22 21 95.5 1 4.5 0 - 0 -
28| FRJHiIR 79 75 94.9 4 5.1 0 - 0 -
29| Zx L8, 29 27 93.1 2 6.9 0 - 0 -
30| i1 L1t 36 35 97.2 1 2.8 0 - 0 -
31| B EE 37 32 86.5 5 135 0 - 0 -
32| B HIE 50 16 32.0 32 64.0 1 2.0 1 2.0
33{ [ Ly 65 60 92.3 5 7.9 0 - 0 B
34| K B 53 39 73.6 11 20.8 9 3.8 1 1.9
35{1l1 011 55 48 87.3 7 12.7 0 - 0 -
36/ # BIR 33 31 93.9 2 6.1 0 - 0 -
37| &)1 43 42 97.7 1 2.3 0 - 0 -
38| FH GBI, 70 15 21.4 55 78.6 0 - 0 -
30| 78 411 53 30 56.6 23 43.4 0 - 0 -
40| 45 9 15 97 97 100.0 0 - 0 - 0 -
A1) 118 49 49 100.0 0 - 0 - 0 -
42| B 15, 79 79 100.0 0 - 0 - 0 -
43| fiEA18 89 87 97.8 g 2.2 0 - 0 -
44\ K58 58 58 100.0 0 - 0 - 0 -
45| E IR 44 44 100.0 0 - 0 - 0 -
46| FE V3 B 32 31 96.9 1 3.1 0 - 0 -
47| FPPIR 53 53 100.0 0 - 0 = 0 -
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1| 116 5 4.3 20 17.2 71 61.2 17 14.7 0 - 3 26 |

2| BRI 32 0 - 12 37.5 18 56.3 1 3.1 1 3.1 0 -

IHFR 57 1 1.8 18 31.6 27 47.4 7 12.3 1 .8 3 5.3

4| b, 66 ) 3.0 0 - 61 92.4 2 3.0 1 1.5 0 -

5| B UL 58 0 - 0 - 58| 100.0 0 - 0 - 0 -

6| L1172 42 7 16.7 0 - 35 83.3 0 - 0 - 0 -

7| %8 1, 87 0 - 1 1.1 81 93.1 5 5.7 0 - 0 -

8| I 82 13 15.9 0 - 66 80.5 3 3.7 0 - 0 -

9| B AIEL 27 3 11.1 9 33.3 13 48.1 0 - 0 - 2 7.4
10 R 55 3 5.5 0 - 46 83.6 5 9.1 0 - 1 1.8
1| FER 74 14 18.9 0 - 56 75.7 4 5.4 0 - 0 -
12| FEEE 66 13 19.7 0 - 52 78.8 1 1.5 0 - 0 -
13| FEUHR 53 7 13.2 0 - 43 81.1 1 1.9 0 - 2 3.8
14| FhZR) 1| Bk 37 0 - 0 - 36 97.3 1 2.7 0 - 0 -
15| BB 92 31 33.7 1 1.1 51 55.4 2 2.2 1 1 6 6.5
16|78 1L 0 30 1 3.3 9 30.0 16 53.3 2 6.7 0 - 2 6.7
17| )11 40 0 - 1 2.5 38 95.0 1 2.5 0 - 0 -
18|48 31 0 - 1 3.2 30 96.8 0 - 0 - 0 -
19| LLFLE: 60 6 10.0 0 - 45 75.0 6 10.0 0 - 3 5.0
20| JEBFIE 85 1 1.2 0 - 80 94.1 2 2.4 0 - o 2.4
21 2 B 51 7 13.7 14 27.5 24 47.1 5 9.8 1 2.0 0 -
22| 18 1. 71 3 4.2 5 7.0 58 81.7 4 5.6 1 1.4 0 -
23| 5 418 65 20 30.8 0 - 42 64.6 1 1.5 1 1.5 1 1.5
24| = EIE 58 7 12.1 22 37.9 26 44.8 2 3.4 0 - 1 1.7
25| B 1B, 48 0 - 0 - 47 97.9 0 - 0 - 1 2.1
26| FUERIEF 44 0 - 0 - 43 97.7 1 2.3 0 - 0 -
27| KIEHF 21 1 4.8 3 14.3 16 76.2 1 4.8 0 - 0 -
28| ST 75 14 18.7 1 1.3 57 76.0 1 1.3 0 - ) 2.7
29| Zs B 1B 27 1 3.7 18 66.7 4 14.8 3 11.1 1 3.7 0 ~
30| Fnsgki L8, 35 0 - 3 8.6 29 82.9 2 5.7 1 2.9 0 -
31| B HE 32 0 - 0 - 32| 100.0 0 - 0 - 0 -
32| B RIE 16 2 12.5 0 - 14 87.5 0 - 0 - 0 -
33 i L1 60 0 - 1 1.7 53 88.3 6 10.0 0 - 0 -
34| [ By 15 39 11 28.2 0 - 26 66.7 1 2.6 1 2.6 0 -
35| 111 0118 48 0 - 20 41.7 23 47.9 5 4.2 3 6.3 0 -
36| LI 15 31 0 - 9 29.0 20 64.5 1 3.2 1 3.2 0 -
37| &1 42 1 2.4 20 47.6 20 47.6 0 - 0 1 2.4
38| 4B IR 15 1 6.7 0 - 7 46.7 6 40.0 0 - 1 6.7
39| 5 418 30 0 - 0 - 13 43.3 6 20.0 1 3.3 10 33.3
40| 45 ML 97 36 37.1 0 - 54 55.7 5 5.2 2 s | 0 -
A1\ 4T 49 16 32.7 22 44.9 11 22.4 0 - 0 - 0 -
42| B 79 2 2.5 1 1.3 71 89.9 5 6.3 0 - 0 -
43| fi A 5 87 34 39.1 0 - 39 44.8 7 8.0 5 5.7 2 2.3
44| KR 58 13 22.4 8 13.8 36 62.1 1 17 0 - 0 -
45| BRI 44 0 B 0 - 44| 100.0 0 - 0 - 0 -
46| EE R BIR 31 17 54.8 2 6.5 11 35.5 1 3.2 0 - 0 -
47| iR 53 1 1.9 0 - 52 98.1 0 - 0 - 0 -

SEE 2,496 294 11.8 221 89| 1,795 71.9 121 48 22 0.9 43 1.7
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[t 116 65| 56.0 8 6.9 40| 345 2 1.7 1 0.9 0 -

2| R 32 26 81.3 1 3.1 0 S 3 9.4 2 6.3 0 -

3 EFIR 57 8 14.0 37| 649 1 1.8 11 19.3 0 - 0 -
4B R 66 8 12.1 53|  80.3 3 4.5 2 3.0 0 - 0 -

5| B ER 15 58 58 | 100.0 0 - 0 - 0 - 0 - 0 -

6| LI 42 42 100.0 0 - 0 - 0 - 0 - 0 =

7|18 B 87 22| 253 64| 736 1 1.1 0 - 0 - 0 -

8| bl 82 11 13.4 59 720 12 14.6 0 — 0 - 0 -

9| B AR 27 16| 593 4| 148 5| 185 0 - 1 3.7 1 3.7
10| B 5B 18 55 2 3.6 49| 89.1 4 7.3 0 - 0 - 0 -
11| HE R 74 23| 311 38| 514 13| 176 1 1.4 0 - 0 -
12| FHE R 66 11 16.7 1 1.5 52 78.8 1 1.5 0 - 1 1.5
13| B 53 3 5.7 39| 736 9| 170 2 3.8 0 - 1 1.9
14 i 1|1 37 1 2.7 34| 919 0 - 1 2.7 0 - 0 -
15| 7 15 92 22 23.9 41 44.6 27 29.3 0 S 0 S 1 1.1
16| 1L 30 30 | 100.0 0 - 0 = 1 3.3 0 - 0 -
17/ 6 )1 40 3 7.5 36 90.0 0 = 0 — 0 = 0 =
18| @41 31 10| 323 0 = 21|  67.7 0 = 0 - 0 -
19[ L B 60 25 41.7 19 31.7 14 23.3 0 = 0 = 2 3.3
20/ EBFIE 85 21 24.7 50| 588 13| 153 1 1.2 0 - 0 -
21 I B 18 51 23|  45.1 8| 157 16| 314 3 5.9 0 - 1 2.0
22, K 71 6 8.5 4 5.6 61| 85.9 0 - 0 - 0 -
23| a4 5L 65 28 43.1 9 13.8 27 41.5 0 - 0 - 1 1.5
24| = B 58 42| 724 3 5.2 8| 138 4 6.9 0 - 1 1.7
25| B IR 48 29| 60.4 4 8.3 13| 271 0 - 0 - 2 4.2
26| ECER R 44 22 50.0 8| 182 11| 250 3 6.8 0 S 0 =
27| KRR 21 1 4.8 9| 429 9| 429 2 9.5 0 - 0 -
28| LWL 75 43| 573 16| 213 9| 120 4 5.3 2 2.7 1 1.3
29| Z5 AL 1L 27 19| 704 2 7.4 2 7.4 4| 148 0 - 0 -
30, kgL 35 30| 857 2 5.7 0 ~ 2 5.7 0 - 1 2.9
31 BRI 32 2 6.3 20| 625 3 9.4 6| 188 1 3.1 0 -
32 BRI 16 12 75.0 4| 250 0 - 0 - 0 - 0 -
33| L 60 19| 317 35| 583 2 3.3 4 6.7 0 - 0 -~
34| 75 B 39 18| 462 6| 154 13| 333 0 - 0 - 2 5.1
35 1L R 48 45| 938 1 2.1 1 2.1 0 - 1 2.1 0 -
36| A 31 16| 516 0 - 14| 452 0 - 0 - 1 3.2
37| B 1| 42 19| 452 2 4.8 0 - 20| 47.6 0 - 1 2.4
38| BB 15 6| 400 7| 467 1 6.7 0 = 0 - 1 6.7
39| % 418 30 21 70.0 0 - 3| 100 0 - 0 - 6] 200
40| R 97 21 21.6 48| 495 27| 278 0 - 0 — 1 1.0
41\ e 49 22| 449 10| 204 11| 224 6| 122 0 - 0 -
42| s 79 1 1.3 78| 987 0 - 0 - 0 - 0 -
43| flg A 87 4| 506 16| 184 22| 253 4 4.6 0 - 1 1.1
44| K58 58 29| 50.0 1 1.7 28| 483 0 - 0 - 0 -
45| 5 Iy I A1 0 - 44 100.0 0 = 0 = 0 - 0 -
46| YRR 31 17| 548 4| 129 8| 258 1 3.2 1 3.2 0 -
47| BB 53 18| 340 0 - 0 - 35|  66.0 0 0 -

SEEH 2,496 960 | 385 874| 350 504 |  20.2 123 4.9 9 0.4 26 1.0
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14k 5 0 = 0 - 5 100.0 0 -

2| R 5 2 40.0 0 = 3 60.0 0 £

3 EFR g 1 50.0 0 - 1 50.0 0 -

4 BRI 1 0 = 0 - 1 100.0 0 -

5| Bk HI UL %

[GIfTE A1 2 0 - 0 - 2 100.0 0 -

7\ R 2 0 = 0 - 2 100.0 0 -

8| KL =

9 K A<LEL 22 4 18.2 6 27.3 12 54.5 0 -
10| B¢ 18, 8 0 - 2 66.7 1 33.3 0 -
114 E IR =
12| FHESL 1 0 - 0 - 1 100.0 0 -
13| JEER =
14| #HZE)1| 0% =
15| FiiB IR 2 0 = 0 = 2 100.0 0 -
16| Bl 5 0 - 0 - 5 100.0 0 -
17|71 R =
18| 78 U8 4 0 - 0 - 4 100.0 0 -
19) LB Z 0 - 0 - 2 100.0 0 -
20| 2515 1 0 S 0 = 1 100.0 0 =
21/ i EA 8L 2 0 - 1 50.0 1 50.0 0 -
22| e =
23| )18 10 8 80.0 0 - 2 20.0 0 -
24| =ZHIE 5 0 - 0 - 4 80.0 1 20.0
25| R IR 1 1 100.0 0 - 0 - 0 -
26| FLERRT =
27| KIRKF 1 0 - 0 - 1 100.0 0 -
28| R 4 3 75.0 0 - 1 25.0 0 -
29| ZZ BRI g2 0 - 1 50.0 1 50.0 0 -
30| Fn s Lk 1 0 - 1 100.0 0 - 0 -
31| SR 5 1 20.0 0 - 4 80.0 0 -
32| BRI 32 5 15.6 10 31.3 17 53.1 0 -
33| [ L 5 3 60.0 0 - 2 40.0 0 -
34 [z 518 11 1 9.1 2 18.2 8 72.7 0 -
35( 111118 2 28.6 0 - 5 71.4 0 -
36| {58 2 1 50.0 1 50.0 0 - 0 -
37/ F IR 1 0 = 1 100.0 0 = 0 =
38| S BIE 55 8 14.5 10 18.2 37 67.3 0 -
39| /& 41U 23 3 13.0 3 13.0 15 65.2 2 8.7
40| % A Bk =
41| RIR =
42| F§ IR =
43| fEA4RIR 2 1 50.0 1 50.0 0 - 0 -
44| KU =
45| B e =
46| FEVR B IR 1 0 - 0 - 1 100.0 0 -
47| iR IR =

S EE 227 44 19.4 39 172 141 62.1 3 1.3
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1} kg 116 11 9.5 104 89.7 0 - 1 0.9
2| 15 RIS 32 3 9.4 29 90.6 0 = 0 =
3R E 57 9 15.8 48 84.2 0 - 0 =

A= R 66 4 6.1 61 92.4 0 = 1 il
5 Bk R 58 0 - 58 100.0 0 - 0 -
6{ LI 42 0 = 42| 100.0 0 - 0 -
7| BB 87 4 4.6 83 95.4 0 = 0 =
8) S 82 11 13.4 70 85.4 1 1.2 0 =
9| §i5 A= 5 27 7 259 20 74.1 0 = 0 B
10| BE 5 1L 55 29 52.7 26 47.3 0 = 0 =
11| 18 74 12 16.2 62 83.8 0 - 0 o
12| 518 66 21 31.8 45 68.2 0 = 0 &
13| L ER 53 38 71.7 15 28.3 0 = 0 -
14| FRZES1| 5L 37 21 56.8 16 43.2 0 = 0 -
15| 7 5 1 92 20 21.7 72 78.3 0 - 0 =
16| &l 8 30 1 3.3 29 96.7 0 - 0 -
17| 5 5 40 0 = 40 100.0 0 = 0 -
18| f& H 15k 31 3 9.7 28 90.3 0 - 0 -
19] 1L HU g 60 3 5.0 57 95.0 0 - 0 o
20| 5% EF U 85 11 12.9 74 87.1 0 o 0 ot
21 Ui BA L 51 14 275 35 68.6 1 2.0 1 2.0
22| i [ 5. 71 6 8.5 65 91.5 0 R 0 =

23] a4 L 65 13 20.0 48 73.8 0 - 4 6.2

24| =EIR 58 6 10.3 51 87.9 0 = 1 1.7

251 HE1R 15 48 2 4.2 45 93.8 0 - 1 2:1
26| HUERIF 44 4 9.1 40 90.9 0 = 0 =

27| KIBRHF 21 4 19.0 16 76.2 0 - 1 4.8
28| feE 75 12 16.0 63 84.0 0 — 0 -
29|22 FL IR 27 2 7.4 24 88.9 1 a7 0 o
30{ Fi L R 35 3 8.6 32 91.4 0 ~ 0 -
31) S5 HEL 32 6 18.8 26 81.3 0 A 0 =
320 By e 16 2 12.5 14 87.5 0 o 0 =
33| [ L 60 1 1.7 59 98.3 0 - 0 -
34| 5 B1E 39 2 5.1 37 94.9 0 i 0 &
351D 48 6 12.5 42 87.5 0 = 0 =
36/ {4 IR 31 4 12.9 27 B7.1 0 i 0 "
37 &I 42 1 2.4 41 97.6 0 e 0 =
38| FEARBIEL 15 2 13.3 13 86.7 0 - 0 -
39| AR 30 2 6.7 28 93.3 0 - 0 =
40| 45 I 97 31 32.0 66 68.0 0 i 0 =
41| B 49 38 77.6 11 22.4 0 - 0 -

42| B IR 79 25 31.6 53 67.1 0 ~ 1 1.3

43| fEAIRL 87 33 37.9 50 57.5 2 2:3 2 2.3
44 K4y E 58 14 24.1 44 75.9 0 = 0 =
45| B gL 44 38 86.4 6 13.6 0 ™ 0 =
46| B B IR 31 4 12.9 26 83.9 1 3.2 0 -
47| RIS 53 7 13.2 46 86.8 0 - 0 -
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1| ks 104 9 8.7 7 6.7 84 80.8 1 1.0 3 2.9
209 TR 29 0 = 5 17.2 23 79.3 0 r 1 3.4
3 FE 48 6 12.5 6 12.5 36 75.0 0 - 0 =
EIRCS 1= 61 10 16.4 6 9.8 42 68.9 1 1.6 2 3.3
5| ok FH 15 58 0 * 58 100.0 0 - 0 - 0 “
g A 42 5 11.9 4 9.5 33 78.6 0 - 0 -
7143 B 15 83 1 1.2 5 6.0 76 91.6 0 = 1 1.2
8| Y b =L 70 5 71 9 12.9 44 62.9 10 14.3 2 2.9
9| i AR 20 6 30.0 9 10.0 11 55.0 0 = 1 5.0
10| BE IR 26 19 73.1 1 3.8 5 19.2 0 = 1 3.8
11| R 62 1 1.6 3 4.8 58 93.5 0 = 0 =
12| TR 45 1 2.2 1 24.4 33 73.3 0 = 0 =
13| B EHER 15 4 26.7 1 6.7 10 66.7 0 = 0 =
14| #Z%) 1| 1B 16 0 ~ 0 = 16 100.0 0 = 0 =
15| §7 5 16L 72 7 9.7 11 15.3 54 75.0 0 = 0 =
16| &1 E 29 0 - 0 - 29 100.0 0 = 0 =
17|51 5 40 1 2.5 1 25 37 92.5 0 = 1 2.5
18| {5 H: 1L 28 2 71 0 - 26 92.9 0 - 0 -
19] L FLE 57 4 7.0 14 24.6 39 68.4 0 = 0 =
20| ¥R 74 6 8.1 10 13.5 56 75.7 0 - 2 2.7
21| ELIRL 35 10 28.6 9 257 14 40.0 1 2.9 1 2.9
22| f i 15 65 2 $.1 27 41.5 36 55.4 0 - 0 -
23| EHI8 48 44 91.7 0 - 4 8.3 0 - 0 -
24| =H 17 51 9 17.6 7 13.7 32 62.7 1 2.0 2 3.9
25| R 18 45 13 28.9 7 15.6 20 44.4 4 8.9 1 22
26| GUER T 40 11 27.5 8 20.0 21 52.5 0 - 0 =
27| KB AT 16 1 6.3 5 31.3 8 50.0 0 2 12,5
28| LR 1E 63 13 20.6 13 20.6 35 55.6 2 32 0 3
29| R IE 24 4 16.7 5 20.8 13 54.2 0 = 2 8.3
30| Fak LS 32 6 18.8 4 12:5 20 62.5 1 3.1 1 3.1
31| B HUE 26 6 23.1 5 19.2 15 57.7 0 = 0 =
32| B IS 14 1 7k 3 214 10 71.4 0 = 0 =
33| L e 59 34 57.6 5 8.5 20 33.9 0 - 0 -
34| [R5 37 6 16.2 5 13.5 26 70.3 0 - 0 =
35 hOE 42 8 19.0 5 11.9 27 64.3 1 2.4 1 2.4
36/ 8 U 27 3 11.1 i 8 3.7 23 85.2 0 = 0 a
37| &) R 41 5 12:2 5 12.2 30 73.2 0 = 1 2.4
38| AR 13 2 15.4 1 71 10 76.9 0 = 0 e
39| /& AR 28 4 14.3 3 10.7 20 71.4 0 = 1 3.6
40| 15 A 5L 66 6 9.1 14 21.2 45 68.2 0 = 1 1.5
41| R 11 11 100.0 0 = 0 = 0 4 0 =
42| gy 5L 53 5 9.4 30 56.6 18 34.0 0 = 0 o
43| e 50 16 32.0 3 6.0 29 58.0 2 4.0 0 "
44| KR 44 44 100.0 0 = 0 - 0 - 0 -
45| SRR 6 0 - 0 - 6| 1000 0 - 0 =
46| FEIR IR 26 5 19.2 1 3.8 20 76.9 0 = 0 -
47| i 46 6 13.0 1 2.2 39 84.8 0 - 0 -
2HEE 1,987 362 18.2 321 16.2 1,253 63.1 24 1.2 27 1.4
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1| kg 122 16 13.1 105 86.1 0 = 1 0.8
2| R 38 12 31.6 25 65.8 1 2.6 0 i
AT 59 31 52.5 28 47.5 0 - 0 -
4| BRI 67 20 29.9 45 67.2 1 1:5 1 L5
5| Bk H 1R 58 16 27.6 1 1.7 0 & 41 70.7
6| LI 44 30 68.2 13 29.5 k 2.3 0 =]
7| R 89 81 91.0 8 9.0 0 = 0 e
8| SR IR 82 80 97.6 2 2.4 0 i 0 =
9 HE AL 49 9 18.4 37 75.5 2 4.1 1 2.0
10| BERG IR 58 57 98.3 1 1.7 0 = 0 7t
11} 15 B 74 29 39.2 44 59.5 0 = 1 1.4
12| F-HER 67 58 86.6 9 13.4 0 = 0 -
13| HELHE 53 48 90.6 4 7.9 0 o 1 1.9
14| fZE) 1| B 37 20 54.1 17 45.9 0 - 0 -
15| iR 94 65 69.1 27 28.7 0 == 2 2.1
16] & LV 35 4 11.4 31 88.6 0 = 0 -
17| 5115 40 38 95.0 1 2.5 0 > 1 2.5
18 fa I 35 7 20.0 28 80.0 0 - 0 -
19 1LIFLIR 63 40 63.5 22 34.9 1 1.6 0 ¥
20| EBFIR 86 27 31.4 57 66.3 1 1.2 1 1.2
21 7 B 53 51 96.2 0 = 1 1.9 1 129
221 1 ¥ UL 71 42 59.2 26 36.6 0 < 3 4.2
23| G418 76 45 59.2 24 31.6 0 = 7 9.2
24| = &R 63 43 68.3 16 25.4 3 4.8 1 1.6
25| B I 49 40 81.6 6 12.2 3 6.1 0 ™
26| HEHT 44 35 79.5 8 18.2 1 2.3 0 =
27| KBEHF 22 15 68.2 5 22.7 0 = 2 9.1
28| LR 79 41 51.9 33 41.8 5 6.3 0 =
29| Z=RLIRL 29 10 34.5 18 62.1 0 - 1 3.4
30{F sk Lk 36 16 A4 20 55.6 0 m 0 Lo
31| B HRE 37 17 45.9 17 45.9 3 8.1 0 .
32| B HRIR 50 20 40.0 25 50.0 1 2.0 4 8.0
33| [ 1Ly 5 65 47 72.3 16 24.6 0 o 2 3.1
34| i B 1R 53 16 30.2 31 58.5 3 5.7 3 5.7
35| (La g 55 48 87.3 6 10.9 1 1.8 0 =
36| R 33 14 42.4 17 51.5 2 6.1 0 =
37| &R 43 43 100.0 0 = 0 = 0 =
38| B IR 70 33 47.1 37 52.9 0 = 0 =
39| & AR 53 23 43.4 27 50.9 1 1.9 2 3.8
40| 3 4 5% 97 51 52.6 46 47.4 0 T 0 =
A1 PR 49 49 100.0 0 = 0 - 0 -
A2| EIRF L 79 32 40.5 47 59.5 0 o 0 -
43| fEA IR 89 72 80.9 10 11.2 4 4.5 3 3.4
44 Ko 58 57 98.3 1 1.7 0 i 0 =
45| B IR 44 40 90.9 4 9.1 0 = 0 =
46| VR B R 32 16 50.0 14 43.8 1 L 1 3.1
47| R 53 30 56.6 23 43.4 0 - 0 -
SEE 2,732 1,634 59.8 982 35.9 36 1.3 80 29
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1|4k 122 3 2.5 114 93.4 4 3.3 1 0.8
2| F 4RI 38 2 5.3 33 86.8 2 5.3 1 2.6
3| HFIR 59 1 1.7 58 98.3 0 - 0 -
4| B . 67 5 7.5 53 79.1 8 11.9 1 1.5
5| FREH IR 58 0 - 0 - 0 - 58 100.0
6{ LI UL 44 4 9.1 38 86.4 1 2.3 1 2.3
7R 89 3 3.4 86 96.6 0 - 0 -
8| 82 58 70.7 21 25.6 1 1.2 2 2.4
o| M ASIE 49 8 16.3 37 75.5 3 6.1 1 2.0
10| BE UL 58 6 10.3 47 81.0 4 6.9 1 1.7
11| B R 8 74 8 10.8 64 86.5 1 1.4 1 1.4
12| FHEL. 67 27 40.3 36 53.7 3 4.5 1 1.5
13| BELER 53 4 7.5 48 90.6 0 - 1 1.9
14| w2z 1| R 37 19 51.4 18 48.6 0 - 0 -
15| $HEIR 94 7 7.4 77 81.9 8 8.5 2 &
16| &1L 35 1 2.9 33 94.3 1 2.9 0 -
17| 61 W 40 1 25 a7 925 2 5.0 0 -
18|78 418 35 3 8.6 32 91.4 0 - 0 -
19| LS. 63 2 3.2 50 79.4 11 17.5 0 -
20| £ BFIE 86 10 11.6 69 80.2 6 7.0 1 1.2
21| i a1 53 8 15.1 40 75.5 o 3.8 3 5.7
22 1 ] 18 71 13 18.3 54 76.1 2 2.8 2 2.8
23| 18 76 1 1.3 51 67.1 2 2.6 22 28.9
24| = &8 63 4 6.3 49 77.8 7 11.1 3 4.8
25| 4 1B 49 4 8.2 37 75.5 7 14.3 1 2.0
26| LT 44 2 45 38 86.4 3 6.8 1 2.3
27| KR HF 22 0 - 19 86.4 1 45 2 9.1
28| SR 79 12 15.2 59 74.7 8 10.1 0 -
29|25 UL 29 1 3.4 24 82.8 1 3.4 3 10.3
30/ Fa skl 36 5 13.9 30 83.3 1 2.8 0 -
31 & B 37 5 13.5 24 64.9 8 21.6 0 -
32| B HR 50 4 8.0 33 66.0 7 14.0 6 12.0
33| [ 1L 8, 65 1 1.5 60 92.3 g 3.1 2 3.1
| 34|17 B 53 1 1.9 42 79.2 6 11.3 4 7.5
35| L 118 55 20 36.4 29 52.7 6 10.9 0 -
36| B IR 33 3 9.1 28 84.8 2 6.1 0 -
37| F)IR 43 3 7.0 37 86.0 3 7.0 0 -
38| SH4BIE 70 2 2.9 65 92.9 3 4.3 0 -
39 18 1 53 2 3.8 45 84.9 4 7.5 2 3.8
40| 15 [ 18 97 43 44.3 50 51.5 4 4.1 0 -
41|4E1818, 49 0 - 49 100.0 0 - 0 -
42| IR 1E. 79 32 40.5 47 59.5 0 - 0 -
43| AR 89 21 23.6 61 68.5 4 4.5 3 3.4
44| K4 IR 58 0 - 58 100.0 0 - 0 -
45| TR 18 44 0 - 44 100.0 0 - 0 =
46| [EE R 1R 32 5 15.6 24 75.0 1 3.1 2 6.3
47| MBI 53 3 5.7 45 84.9 5 9.4 0 =
£EF 2,732 367 13.4 2,093 76.6 144 5.3 128 4.7
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1|t 123 117 95.1 5 4.1 1 0.8 0 -

2| BRI 38 32 84.2 5 13.2 1 2.6 0 -

3| FIR 59 57 96.6 2 3.4 0 - 0 -

4| E UL 67 66 98.5 1 1.5 0 - 0 -

5| Bk UL 57 57 100.0 0 - 0 - 0 -

6f LI 15 44 42 95.5 2 4.5 0 - 0 -

7|45 18 89 87 97.8 2 22 0 - 0 -

8| bl 82 82 100.0 0 - 0 - 0 -

9 fi A<t 49 27 55.1 22 44.9 0 - 0 -
10| BB 18 58 56 96.6 2 3.4 0 - 0 -
11|85 F 18 74 74 100.0 0 - 0 - 0 -
12| F-HEL. 67 66 98.5 1 1.5 0 - 0 -
13| JHUHD 53 53 100.0 0 - 0 - 0 -
14| #1114 37 37 100.0 0 - 0 - 0 -
15| #i0R 94 93 98.9 L 1.1 0 - 0 -
16|55 33 28 84.8 5 15.2 0 - 0 -
17| )18 40 40 100.0 0 - 0 - 0 -
18|18 1 35 32 91.4 3 8.6 0 - 0 -
19|11 BYI5 60 56 93.3 4 6.7 0 - 0 -
20| BHIEL 79 78 98.7 1 1.3 0 - 0 -
21|l B 18 49 46 93.9 2 4.1 0 - 1 2.0
22| 1 [ Uk 71 71 100.0 0 - 0 - 0 -
23| UL 75 65 86.7 9 12.0 0 - 1 1.3
24| = HIE 63 58 92.1 5 7.9 0 - 0 -
25| REAZ I 49 48 98.0 1 2.0 0 - 0 -
26| LEBIT 43 43 100.0 0 - 0 - 0 -
27| KIRF 22 21 95.5 1 4.5 0 - 0 -
28| ST fifi i 79 75 94.9 4 5.1 0 - 0 -
29| FE B IR 28 26 92.9 2 71 0 - 0 -
30| Fn skl 5 36 35 97.2 1 2.8 0 - 0 -
31| B HRR 36 35 97.2 1 2.8 0 - 0 -
32| BrRuL 50 16 32.0 32 64.0 1 2.0 1 2.0
33| A LU 61 57 93.4 4 6.6 0 - 0 -
34| [ 1 53 39 73.6 11 20.8 2 3.8 1 1.9
35| Ll 14 55 48 87.3 7 12.7 0 - 0 -
36| 4 1 L 33 31 93.9 2 6.1 0 - 0 -
37| & )11 43 42 97.7 1 2.3 0 - 0 -
38| 4RI 69 15 21.7 54 78.3 0 - 0 -
39| i 41 18 52 29 55.8 19 36.5 0 - 4 7.7
40| 78 I 15 93 93 100.0 0 - 0 - 0 -
41|11 49 49 100.0 0 - 0 - 0 -
42| 1R 79 79 100.0 0 - 0 - 0 -
43| A 18 88 84 95.5 4 4.5 0 - 0 -
44| K4 58 58 100.0 0 - 0 - 0 -
A5| BT 44 44 100.0 0 - 0 - 0 -
46/ [FE 1R 518, 32 31 96.9 1 3.1 0 - 0 -
47| iR IE. 53 53 100.0 0 - 0 - 0 -

S@EE 2,701 2,471 91.5 217 8.0 5 0.2 0.3
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1| b 117 8 4.3 21 17.9 70 59.8 16 13.7 1 0.9 R 3.4
2| IR 32 0 = 12 37.5 18 56.3 1 | 1 3.1 0 *
3BT 57 1 1.8 18 31.6 27 474 7 12.3 1 1.8 3 5.3
Al E BRI 66 2 3.0 0 = 61 92.4 2 3.0 1 1.5 0 =
5 FKHI R 57 0 = 0 = 57 100.0 0 = 0 = 0 =
6| LR 42 7 16.7 0 = 35 83.3 0 = 0 =i 0 =
7| B 87 0 = 1 1.1 81 93.1 5 5.7 0 = 0 =
8| Fe b 82 13 15.9 0 o 66 80.5 3 3.7 0 o 0 B
9| HF AR 27 4 14.8 9 33.3 12 A 0 = 0 = 2 7.4
10| BEFB IR 56 3 5.4 0 ol 46 82.1 6 10.7 0 - 1 1.8
11| E= W 74 14 18.9 0 = 56 75.7 4 5.4 0 = 0 =
12| F3ER 66 12 18.2 0 = 52 78.8 2 3.0 0 = 0 —
13| HL5(HR 53 T 13.2 0 = 43 81.1 2 3.8 0 o 1 1.9
14| g1 5k 37 0 = 0 = 36 97.3 1) 27 0 2 0 ==
15| IR 93 31 33.3 1 1.1 51 54.8 3 3.2 1 1.1 6 6.5
16| & LU IS 28 1 3.6 9 32.1 14 50.0 1 3.6 1 3.6 2 7.1
17 AR 40 0 = 0 = 39 97.5 1} 25 0 & 0 =
18| #3815 32 0 = 1 3.1 31 96.9 0 = 0 = 0 =
19/ 1L B4R 56 7 12.5 0 = 45 80.4 3 5.4 0 = 1 1.8
20| BB 78 1 1.3 0 - 74 94.9 1 1.3 1 1.3 1 13
21l B UL 46 7 15.2 13 28.3 20 43.5 ) 10.9 1 2l 0 =
22| i i L 71 3 4.2 5 7.0 58 81.7 B! 5.6 1 1.4 0 =
23| B AR 65 20 30.8 0 - 42 64.6 1 1.5 i 1.5 1 1.5
24 =HIR 58 7 12.1 20 34.5 27 46.6 2 3.4 1 1.7 1 1.7
25| BE IR 48 0 = 0 - 47 97.9 0 = 0 = 1 2.1
26| 5UERIT 43 0 & 0 — 42 97.7 1 2.3 0 = 0 =
27\ KIRfF 21 1 4.8 3 14.3 16 76.2 1 4.8 0 = 0 =
28| [E IR 75 15 20.0 1 1.3 57 76.0 1 1.3 0 . 1 1.3
29 IR 26 1 3.8 17 65.4 4 154 3 11.5 1 3.8 0 =
30| FragILIR 35 0 = 3 8.6 30 85.7 2 5.7 0 = 0 =
31 KL 35 0 = 0 = 35 100.0 0 = 0 = 0 =
32| BHRIR 16 2 12,5 0 = 14 87.5 0 = 0 = 0 =
33| [ LR 57 0 = 1 1.8 50 87.7 6 10.5 0 = 0 =
34| [ B IR 39 11 28.2 0 S 26 66.7 1 2.6 1 2.6 0 =
351 A% 48 0 = 19 39.6 24 50.0 2 4.2 3 6.3 0 i
36| IR 31 0 = 10 32.8 19 61.3 1 3.2 1 3.2 0 =
37| F I 42 1 2.4 20 47.6 21 50.0 0 = 0 = 0 =
38 BRI 15 1 6.7 0 - 7| 467 6| 40.0 0 - 1 6.7
30| IR 29 0 = 0 = 16 55.2 5 17.2 2 6.9 6 20.7
40| fE I R 93 35 37.6 0 = 51 54.8 5 5.4 2 2:2 0 =
41| IR 49 16 32.7 22 44.9 11 22.4 0 = 0 = 0 =
42| Elff 1 79 2 2.5 1 1.3 71 89.9 b 6.3 0 = 0 =
A3|EA U 84 33 39.3 0 = 39 46.4 9 10.7 2 2.4 1 1.2
44f K oI5 58 13 224 8 13.8 36 62.1 1 1.7 0 = 0 =
45| IR 44 0 - 0 - 44| 100.0 0 - 0 - 0 -
46 EVL IR 31 16 51.6 2 6.5 12 38.7 1 3.2 0 = 0 =
47| Mg 53 1 1.9 0 - 52| 981 0 0 - 0 -
£EHE 2,471 293 11.9 217 8.8 1,785 72.2 120 4.9 23 0.9 33 1.3
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s 117 56| 564 8§ 68| 40| 342 5T 17 i 09 0 =

ol i 32 26| 813 1| 31 0 - 3| 94 2| 63 0 i

aETm 57 8| 140 37| 649 1 1.8 1| 193 0 . 0 o

A e 66 8| 121 52| 788 4| 61 2| 30 0 - 0 —

5| Bk 57 57| 100.0 0 i 0 . 0 - 0 y 0 i

ol 1L 12 42| 100.0 0 3 0 ’ 0 = 0 . 0 .

g 87 o1| 241 64| 736 2| 23 0 ’ 0 2 0 2

8| s bt 82 1| 134 58| 70.7 13| 159 0 " 0 = 0 i

ol A 27 16| 593 4| 148 5| 185 0 - Y 1| a7
10/ BEE I 56 2| 36 49| 875 51 89 0 - 0 i 0 “
1| ER 74 23| 311 38| 514 13| 176 0 . 0 . 0 4
12| 3R 66 12| 182 2| 30 50| 758 1 15 0 ; 1| 15
13| B 53 4| 75 39| 736 9| 170 T 0 - 0 i
14| RiZe) 11 37 1| 27 34| 919 0 4 2| 54 0 | 0 .
15| BB 93 24| 258 42| 52 24| 258 2| 20 0 I 11
16| EuLik 28 28| 100.0 0 d 0 . 0 " 0 ; 0 <
17\ B 40 3| 75 36| 900 0 - 1| 25 0 L 0 i
18 1R 32 11| 344 2| 63 19| 594 0 - 0 I 0 J
19) L1 B4I 56 25| 446 17| 304 13 232 0 - 1| 18 0 .
20| EEFL 78 23| 295 45| 577 9| 115 1 13 0 = 0 i
o1 g 1 46 19 413 11| 239 11| 239 3| 65 1| 22 1| 22
20 1 I 71 6| 85 5| 70 60| 845 0 - 0 il 0 J
23| AR 65 08| 431 9| 138 07| 415 0 - 0 I Y
24| = H 58 45| 776 4l 69 71 121 0 . 1 17 Y
25| R 48 30| 625 3 63 13| 271 0 & 0 g 2| 42
26| K8 R 43 19| 442 8| 186 13| 302 3| 70 0 y 0 :
27| K 21 0 = o| 429 0| 476 Y 0 d 0 4
28| Ei 75 38| 507 18| 240 12| 160 5| 67 2| a7 0 .
29|22 26 19| 731 ol 77 o 77 3| 115 0 5 0 -
30 FLIR 35 31| 886 2| 57 0 . 2| 57 0 - 0 -
31 S ERR 35 sl  s7 21| 60.0 5| 143 6| 17.1 1| 29 0 .
2| gigm 16 12| 750 4| 250 0 - 0 - 0 . 0 A
33| F LR 57 19| 333 33| 57.9 il 18 4l 70 0 i 0 d
sl 39 20| 513 4 103 12| 308 0 % 1 26 2| 51
35| 1L 018k 48 45| 938 1| 21 1l 21 0 = 1l 21 0 2
ao| s 31 14| 452 0 - 16| 516 0 - 0 J 1| 32
37| B 42 21| 500 1| 24 0 S 20| are 0 d 0 il
28| B ipIA 15 6| 40.0 7| 467 1| 67 0 - 0 . Y
30| B it 29 25| 862 0 - 2| 69 0 ” 0 . 2| 69
sol MR 93 19| 204| 44| 473 29| 312 0 = 0 " 1 11
alEmn 49 22| 449 10| 204 1| 224 6| 122 0 i 0 K
sl s 79 1 1.3 78| 87 0 5 0 5 0 : 0 -
sa| e 84 42| 500 16| 19.0 20| 238 5| 60 1 12 0 2
44 KA 58 29| 500 Y o8| 483 0 ’ 0 = 0 2
45| EHEL 44 0 - 4| 1000 0 . 0 - 0 = 0 d
A6| EE B 31 16| 516 5| 161 8| 258 1 32 1| 32 0 i
27| RR 53 18| 340 0 % 0 | 35| 660 0 = 0 5

2@t 2471| 957 | 38.7| 868| 35.1| 496| 20.1| 121| 49 14| 06 15| 06
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1| b3 5 0 = 0 & 5 100.0 0 -
2| AR 5 2 40.0 0 = 3 60.0 0 e
EFR 2 1 50.0 0 = 1 50.0 0 -
4| B R 1 0 - 0 = 1 100.0 0 =
5| FKH W -
6[1LEUL 2 0 = 0 - 2 100.0 0 -
7| %8 2 0 s 0 == 2 100.0 0 <
8RR =
9| Hp AL 22 4 18.2 6 27.3 12 54.5 0 =
10| BE R 2 0 - 1 50.0 1 50.0 0 =
11| ER =
12| FHEWR 1 0 = 0 = 1 100.0 0 =
13| HULHR =
14| fhFR) 1| IR -
15| iR IR 1 0 - 0 = 1 100.0 0 T
16 B 1LY 5 0 44 0 - 5 100.0 0 =
17| A )11 —
18| fE IR 3 0 = 0 - 3 100.0 0 =
19] | LIFU 1 4 0 = 2 50.0 2 50.0 0 =
20| E B 1 0 = 0 - 1 100.0 0 -
21| e B L 2 0 = 1 50.0 | 1 50.0 0 -
22| ¥ I UL =
23| |18 9 7 77.8 0 = 2 22.2 0 -
24| =HI 5 0 - 0 - 4 80.0 1 20.0
25| BE g 18 1 1 100.0 0 = 0 = 0 =
26| SURRIY =
27| KBRIT 1 0 = 0 = 1 100.0 0 =
28| FLiEUL 4 3 75.0 0 2t 1 25.0 0 =
29| ZE IR 2 0 - 1 50.0 1 50.0 0 -
30| Fnak L s, 1 0 = 1 100.0 0 = 0 =
31| By EE 1 0 - 0 = 1 100.0 0 -
32| BER 32 5 15.6 10 313 17 53.1 0 =
33 Ll 4 3 75.0 0 =5 1 25.0 0 -
34| J5 B 15 11 1 9.1 2 18.2 8 72.7 0 =
35/ 0 & ' = 28.6 0 = 5 71.4 0 =
36| fE B 2 1 50.0 1 50.0 0 - 0 =
37\ F IR 1 0 5 1 100.0 0 = 0 =
38 F B 54 7 13.0 9 16.7 38 70.4 0 -
39| /8 A1 19 2 10.5 4 21.1 12 63.2 1 53
40| 15 e U -
A1 IR =
42| Bl =
43| REASIEL i 1 25.0 2 50.0 1 25.0 0 =
44| Ko =
45| B IR =
46| B2 &R 1 0 - 0 - 1 100.0 0 -
47| ThERIR =
£Ei 217 40 18.4 41 18.9 134 61.8 2 0.9
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1| ke 117 11 9.4 105 89.7 0 - 1 0.9
2| H IR 32 4 12.5 28 87.5 0 - 0 -
RIP=ES -] 57 9 15.8 48 84.2 0 - 0 -
4| BRI 66 5 7.6 60 90.9 0 - 1 1.5
5| FA UL 57 0 - 57 100.0 0 - 0 -
6| LB UL 42 0 - 42 100.0 0 - 0 -
7|48 By 87 5 5.7 82 94.3 0 - 0 B
8| b 82 11 13.4 70 85.4 1 1o 0 -
9| HACIEL 27 g 25.9 20 74.1 0 - 0 -
10| B 18, 56 31 55.4 25 44.6 0 - 0 -
11|#FR 74 12 16.2 62 83.8 0 - 0 -
12| FEEIE 66 20 30.3 46 69.7 0 - 0 -
13| HELHR 53 38 71.7 15 28.3 0 - 0 =
14| #1158, 37 21 56.8 16 43.2 0 - 0 -
15| 7 EIE 93 19 20.4 74 79.6 0 - 0 -
16| LR 28 1 3.6 27 96.4 0 = 0 o
17| G118 40 0 - 40 100.0 0 - 0 -
18| 75 HE 1L 32 3 9.4 29 90.6 0 - 0 -
19| L LR 56 5 8.9 51 91.1 0 - 0 -
20| £ BFIE 78 9 1.5 69 88.5 0 - 0 -
21l L1 46 13 28.3 31 67.4 1 2.2 1 o
22| Hh I UL 71 6 8.5 65 91.5 0 - 0 -
23| AL 65 13 20.0 48 73.8 0 - 4 6.2
24| = IR 58 6 10.3 52 89.7 0 - 0 -
25| B 48 3 6.3 44 91.7 0 - 1 51
26| LRI 43 4 9.3 39 90.7 0 - 0 -
27| KR 21 4 19.0 16 76.2 0 - 1 4.8
28| FJHE L 75 11 14.7 64 85.3 0 - 0 -
29| Z5FLIAL 26 g 7.9 23 88.5 1 3.8 0 -
30| Fi L L % 35 3 8.6 32 91.4 0 - 0 =
31| e 35 7 20.0 28 80.0 0 - 0 -
32| B HIE 16 o 12.5 14 87.5 0 - 0 -
33 [ L1 57 o 3.5 55 96.5 0 - 0 -
34| [ IR 39 g 5.1 37 94.9 0 - 0 -
35| 1L 01 4 48 6 12.5 42 87.5 0 - 0 -
36| U 31 3 9.7 28 90.3 0 - 0 -
37| B 1|0 42 2 4.8 40 95.2 0 - 0 -
38| SR 4BIAL 15 8 13.3 13 86.7 0 - 0 -
39 725 411, 29 2 6.9 26 89.7 1 3.4 0 -
40| 45 ¥ U 93 31 33.3 62 66.7 0 - 0 -
A1l e 49 38 77.6 11 22.4 0 - 0 -
42| 518, 79 25 31.6 53 67.1 0 - 1 1.3
43| A1 84 33 39.3 48 57.1 2 2.4 1 1.2
44 K43 1B. 58 14 24.1 44 75.9 0 - 0 -
45| S L 44 38 86.4 6 13.6 0 - 0 -
46| EEIRRIR 31 4 12.9 27 87.1 0 - 0 -
47| shgIR 53 7 13.2 46 86.8 0 - 0 -
SEE 2,471 494 20.0 1,960 79.3 6 0.2 11 0.4
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1|4t 105 9 8.6 7 6.7 85 81.0 1 1.0 3 2.9
2| S ARE 28 0 ~ 5 17.9 22 78.6 0 - 1 3.6

3 EFE 48 6 12.5 6 12.5 36 75.0 0 S 0
4| = e 60 9 15.0 6 10.0 43 71.7 1 1.7 1 =T
5| Bk H 15 57 0 - 57 100.0 0 - 0 - 0 =
6| 11118 42 5 11.9 4 9.5 33 78.6 0 = 0 =
7|18 B 18 82 1 1.2 4 4.9 77 93.9 0 S 0 =
8| 3 b 18 70 5 7.1 10 14.3 43 61.4 10 14.3 2 2.9
9| Hi AL 20 6 30.0 2 10.0 11 55.0 0 S 1 5.0
10| BEBIR 25 17 68.0 1 4.0 6 24.0 0 S 1 4.0
11|15 T % 62 1 1.6 3 4.8 58 93.5 0 = 0 =
12| 5 46 1 2.2 12 26.1 33 71.7 0 - 0 o
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